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Abstract: Extending Gali and Monacelli (2004 ), we build an N-country open
economy model, where each economy is subject to sticky wages and prices and,
potentially, has access to sales and income taxes as well as government spending
as fiscal instruments. We examine an economy either as a small open economy
under flexible exchange rates or as a member of a monetary union. In a small
open economy when all three fiscal instruments are freely available, we show an-
alytically that the impact of technology and mark-up shocks can be completely
eliminated, whether policy acts with discretion or commitment. However, once
any one of these fiscal instruments is excluded as a stabilisation tool, costs can
emerge. Using simulations, we find that the useful fiscal instrument in this case
(in the sense of reducing the welfare costs of the shock) is either income taxes
or sales taxes. In contrast, having government spending as an instrument con-
tributes very little. In the case of mark-up shocks tax instruments which can
offset the impact of the shock directly are highly effective, while other fiscal
instruments are less useful.

The results for an individual member of a monetary union facing an idiosyn-
cratic technology shock (where monetary policy in the union does not respond)
are very different. First, even with all fiscal instruments freely available, the
technology shock will incur welfare costs. Government spending is potentially
useful as a stabilisation device, because it can act as a partial substitute for
monetary policy. Finally, sales taxes are more effective than income taxes at
reducing the costs of a technology shock under monetary union. If all three
taxes are available, they can reduce the impact of the technology shock on the
union member by around a half, compared to the case where fiscal policy is not
used.

Finally we consider the robustness of these results to two extensions. Firstly,
introducing government debt, such that policy makers take account of the debt
consequences of using fiscal instruments as stabilisation devices, and, secondly,
introducing implementation lags in the use of fiscal instruments. We find that
the need for debt sustainability has very limited impact on the use of fiscal
instruments for stabilisation purposes, while implementation lags can reduce,
but not eliminate, the gains from fiscal stabilisation.
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1 Overview

There has been a wealth of recent work deriving optimal monetary policy for
both closed and open economies utilising New Classical Keynesian Synthesis
models where the structural model of the economy and the description of policy
makers’ objectives are consistently microfounded (see for example, Woodford
(2003) for a comprehensive treatment of the closed economy case, and Clarida
et al (2001) for its extension to the open economy case.). More recently, a
number of papers have extended this analysis to include various forms of active
fiscal policy, although only a few in the context of open economies or a monetary
union.!

Even when fiscal policy has been analysed, however, the number of active
fiscal instruments considered has tended to be small (often one, sometimes two),
and these instruments are assumed to be as flexible as interest rates. In this
paper we consider open economies in which there are three potential fiscal in-
struments alongside monetary policy: government spending, income taxes and
sales taxes. Unlike most papers in the literature, we allow for inertia in both
price and wage setting. This is important, because with wage inertia it is no
longer possible for monetary policy to replicate the efficient flexible price equi-
librium in the face of technology shocks. As we shall show, this introduces an
important potential role for using tax as a stabilisation instrument.

As well as the small open economy case, we also consider the case of an
individual member of a monetary union, using a framework set out in Gali
and Monacelli (2004) (henceforth GM). We examine optimal policies when all
fiscal instruments are available and fully flexible, and then look at the impact
on welfare if there are lags in using these instruments, or if only a subset of
instruments are available for short term stabilisation.

Our benchmark regime is for a small open economy, when all three fiscal
instruments are freely available. Here we can show analytically that the welfare
impact of technology shocks (in the sense that the shock will result in vari-
ables deviating from their efficient levels due to price and wage stickiness) can
be completely eliminated, whether policy acts with discretion or commitment.

IFor example, Sutherland (2004) and Beetsma and Jensen (2004).



However, once any one of these fiscal instruments is excluded as a stabilisation
tool, costs emerge. Using simulations, we find that the useful fiscal instrument
in this case (in the sense of reducing the welfare costs of the shock) is either
income taxes or sales taxes. In constrast, having government spending as an in-
strument contributes very little. This is also true of mark-up shocks where only
a tax instrument which can directly offset the inflationary pressures created by
the shock is effective in dealing with the shock.

The results for an individual member of a monetary union facing an idiosyn-
cratic technology shock (where monetary policy in the union does not respond)
are very different. First, even with all fiscal instruments freely available, the
technology shock will incur welfare costs. Government spending is potentially
useful as a stabilisation device, because it can act as a partial substitute for
monetary policy. Finally, sales taxes are more effective than income taxes at
reducing the costs of a technology shock under monetary union. Again, fiscal
instruments have to be tailored to the specific mark-up shock to be effective.

Initially, our analysis assumes the existence of a lump sum tax whose sole
purpose is to balance the budget each period. As Ricardian Equivalence holds,
changes in this tax have no impact on the economy, but allow us to ignore the
government’s budget constraint in our analysis. Results presented elsewhere
(Leith and Wren-Lewis (2005)) suggests abandoning this device would have
little impact on our results. This is because it is optimal either to accommodate
the impact of fiscal shocks on debt (i.e. debt has a random walk character, as
in Benigno and Woodford (2005)), or that the optimal speed for correcting debt
disequilibrium is slow. In this paper we confirm this, by considering the case
where lump-sum taxes are not available to offset the fiscal consequences of using
fiscal instruments as stabilisation devices.

We also assess the robustness of our results to significant implementation
lags inherent in changing fiscal instruments over the course of a business cy-
cle. Implementation lags associated with particular instruments are likely to
vary from country to country, so we consider a range of possibilities. We find
that while these lags can reduce the welfare benefits of using fiscal policy as a
stabilisation device, it does not eliminate these benefits.

Our next section derives the model. Section 3 outlines the social planner’s
problem such that we can write our model in ‘gap’ form. This representation of
the model can also be used to derive a quadratic approximation to welfare. In
section 4 we derive the optimal pre-commitment policies for the open economy
and for a continuum of economies participating in monetary union. Section
5 simulates such economies to quantify the relative contribution of alternative
fiscal instruments to macroeconomic stability. In this section we also consider
the importance of implementation lags in relation to fiscal variables. Section
6 adds government debt to the model and assesses the importance of the con-
straints imposed by the need for fiscal solvency. A conclusion summarises the
main results.



2 The Model

This section outlines our model. As noted above this is similar in structure
to GM, but we allow for the existence of sticky wages as well as prices and
introduce distortionary sales and income taxes. The model is further extended
by introducing government debt in section 6.

2.1 Households

There are a continuum of households of size one, who differ in that they pro-
vide differentiated labour services to firms in their economy. However, we shall
assume full asset markets, such that, through risk sharing, they will face the
same budget constraint and make the same consumption plans even if they face
different wage rates due to stickiness in wage-setting. As a result the typical
household will seek to maximise the following objective function,

Eq ZﬂtU(Ct’N(k)t,Gt) (1)

t=0

where C,G and N are a consumption aggregate, a public goods aggregate, and
labour supply respectively. Here the only notation referring to the specific
household, &, indexes the labour input, as full financial markets will imply that
all other variables are constant across households.
The consumption aggregate is defined as
l1—a, o
C= —CH CF (2)

(1—a)d-a)qe

where, if we drop the time subscript, all variables are commensurate. Cy is a
composite of domestically produced goods given by

Cr = ( /0 Cu ()= dj) = (3)

where j denotes the good’s type or variety. The aggregate Cr is an aggregate
across countries ¢

Cp = ( / CiT iy (4)

where C; is an aggregate similar to (3). Finally the public goods aggregate is
given by

1

Le=1l . _e

— (| 66T ap= )
0

which implies that public goods are all domestically produced. The elasticity of

substitution between varieties € > 1 is common across countries. The parameter

a is (inversely) related to the degree of home bias in preferences, and is a natural

measure of openness.



The budget constraint at time ¢ is given by

1 1 1
/ Prr o () Crre () + / / Pot()Cot () didi + E{QurirDes } (6)
0 0 0
= Ht+Dt+WtN(k>t(l_Tt> —Tt

where P; 4(j) is the price of variety j imported from country ¢ expressed in
home currency, D;;1 is the nominal payoff of the portfolio held at the end of
period t, II is the representative household’s share of profits in the imperfectly
competitive firms, W are wages, T is an wage income tax rate, and 7" are lump
sum taxes. ()¢ ++1 is the stochastic discount factor for one period ahead payoffs.

Households must first decide how to allocate a given level of expenditure
across the various goods that are available. They do so by adjusting the share
of a particular good in their consumption bundle to exploit any relative price dif-
ferences - this minimises the costs of consumption. Optimisation of expenditure
for any individual good implies the demand functions given below,

Py (j)

cnj) = (=2L)cy 7)
H
. P(j), _.
o) = Ey=, 0
where we have price indices given by
1 1
P = ([ Pal)a) (9

It follows that
1
/ Pu()Cu(j)dj = PuCa (1)
0
1
/ PG = PG (12)
0

Optimisation across imported goods by country implies

P
(7
C; (PF) Cr (13)
where L
Pp = (/ Pl T (14)
0
This implies
1
/ P,C;di = PrCF (15)
0



Optimisation between imported and domestically produced goods implies

PHCH = (1—04)PC (16)
PFCF = aPC (17)

where
P = PjPg (18)

is the consumer price index (CPI). The budget constraint can therefore be
rewritten as

PtCt + Et{Qt,t+1Dt+1} = Ht =+ Dt + WtN<k)t(1 — Tt) — Tt (19)

2.1.1 Households’ Intertemporal Consumption Problem

The first of the household’s intertemporal problems involves allocating consump-
tion expenditure across time. For tractability assume (following GM) that (1)
takes the specific form

53 A(nC, + yinG, - SENT

2 Tro ) (20)

In addition, assume that the elasticity of substitution between the baskets of
foreign goods produced in different countries is 7 = 1 (this is equivalent to
adopting logarithmic utility in the aggregation of such baskets).

We can then maximise utility subject to the budget constraint (19) to obtain
the optimal allocation of consumption across time,

Cy P,
Cey1” P

) = Q41 (21)

Taking conditional expectations on both sides and rearranging gives

m&{(%)(% 1=1 (22)

where R; = m is the gross return on a riskless one period bond paying
off a unit of domestic currency in ¢+ 1. This is the familiar consumption Euler
equation which implies that consumers are attempting to smooth consumption
over time such that the marginal utility of consumption is equal across periods
(after allowing for tilting due to interest rates differing from the households’
rate of time preference).

A log-linearised version of (22) can be written as

ct = E{cii1} — (1t — Ee{me1} — p) (23)

where lowercase denotes logs (with an important exception for g noted below),
p= % — 1, and 7y = p; — pg—1 is consumer price inflation.



2.1.2 Households’ Wage-Setting Behaviour

We now need to consider the wage-setting behaviour of households. We assume
that firms need to employ a CES aggregate of the labour of all households in
the domestic production of consumer goods. This is provided by an ‘aggregator’
who aggregates the labour services of all households in the economy as,

cw

N= [/01 Nk dk} " (24)

where N (k) is the labour provided by household k to the aggregator. Again we
allow the degree of labour differentiation to vary in response to iid shocks which
introduce the possibility of wage mark-up shocks. Accordingly the demand
curve facing each household is given by,

N(k) = (%) N (25)

where N is the CES aggregate of labour services in the economy which also
equals the total labour services employed by firms,

1
N = /0 N(G)dj (26)

where N(j) is the labour employed by firm j. The price of this labour is given
by the wage index,

W= [/01 W(k)1€de} o (27)

The household’s objective function for the setting on its nominal wage is given
by,

S s W (k) (N(k)egs)'te
E; <§(9w5) {AHSTHO = Tis) N ()45 — TD (28)

where A¢ys = C Y is the marginal utility of real post-tax income and N (k) =

% o N is the demand curve for the household’s labour. The first-order

condition is therefore given by,

= | AP (%) T (1= Trs) Neps (1 — €)
By Z(awﬂ) W (k) —ew(14¢) (14¢) =0 (29)
s=0 +ew (W) Niys
Using the condition,
() (75)
= s 30
5 (5) () = s (30)



this can be rewritten as,

N ; Q4 s Wit New s (W(K), (1 = Te4s) ]
E 0,)° ’ s eralP Ay l)=0 @
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where p = —< is the mark-up for wage-setting?. Solving for the optimal

By (3020(0u)® [Quas s Wit News (1 = 744.5) Oy Py )
€, (1
E; (Z:io(ew)s |:Qt,t+s:u’th$s( +<P)Nt1—:_f])
where W denotes the wage chosen by all households that were able to renegotiate

wages in period t. Note that when 6,, = 0 then wages are flexible and this
condition reduces to,

——1—pe
W, Y=

(32)

(1—7) <%) — i, N¥C (33)

which is the conventional labour supply decision (after allowing for the fact
that households have market power in setting wages). The wage index evolves
according to the following law of motion,

W= (1= 0, 0w | T (34)

where W, is the optimal nominal wage set by those households that were able
to do so in period ¢ according to equation (32). These can be combined into a
form of New Keynesian Phillips curve for wage inflation, as shown in Appendix
1, which yields a log-linearised expression for wage-inflation dynamics,

(1+ @ew)

where A\, = %. Note that the forcing variable in the NKPC is a
log-linearsed measure of the extent to which wages are not at the level implied
by the labour supply decision that would hold under flexible wages.

i = BBy + (png —wy + e +pr — In(1 —7¢) +In(py"))  (35)

2.2 Price and Exchange Rate Identities

The bilateral terms of trade are the price of country i’s goods relative to home
goods prices,

P
S =X 36
=2 (30)
The effective terms of trade are given by
Pr
S Py (37)
1
= exp/ (pi — pu)di (38)
0

2In order to allow a role for mark-up shocks in wage-setting we shall later subject this
mark-up to iid shocks.



Recall the definition of consumer prices,
P = P} Py (39)
Using the definition of the effective terms of trade this can be rewritten as,
P = PyS© (40)
or in logs as
p=pu+as (41)

where s = pp — pgy is the logged terms of trade. By taking first-differences it
follows that,
T =mH + (s — si—1) (42)

There is assumed to be free-trade in goods, such that the law of one price
holds for individual goods at all times. This implies,

Pi(j) = P (j) (43)

where ¢; is the bilateral nominal exchange rate and P}(j) is the price of county
i’s good j expressed in terms of country i’s currency. Aggregating across goods
this implies, '
Pl' = EiPZ (44)
1
where P} = (fol Pii(j)l_fdj) o
From the definition of Pr we have,

1
Pr o= / Pl di) T (45)
0

1

1
= /O (e:P))' " diy (46)

In log-linearised form,

1
pr = / (s + pl)di (47)
= e+p* (48)

where e = fol e;di is the log of the nominal effective exchange rate, p! is the
logged domestic price index for country i, and p* = fol pidi is the log of the
world price index. For the world as a whole there is no distinction between
consumer prices and the domestic (world) price level.

Combining the definition of the terms of trade and the result just obtained
gives

§ = PFr—DPH (49)
= e+p" —pH (50)



Now consider the link between the terms of trade and the real exchange
rate. (Note that although we have free trade and the law of one price holds for
individual goods, our economies do not exhibit PPP since there is a home bias
in the consumption of home and foreign goods. PPP only holds if we eliminate
this home bias and assume « = 1 since this implies that the share of home goods
in consumption is the same as any other country’s i.e. infinitesimally small.)
The bilateral real exchange rate is defined as,

EiPl'
P

where P; and P are the two countries respective CPI price levels. In logged
form we can define the real effective exchange rate as,

Qi = (51)

o = [ (err-pa (52)
e+p* —p (53)

= s+pg—0p (54)

= (1-a)s (55)

2.3 International risk sharing

Assume symmetric initial conditions (e.g. zero net foreign assets etc) and recall
the first-order condition for consumption,

-1 _
Ci _ C,
Piya Py

1
B Qt,t+1 (56)

Since financial markets are complete, a similar condition must exist in the foreign
economy, say country 4,

Ctiﬂ)l( - )( o )
B . d = 57
/B( Ci Py ) \€it+ Quen (57)

Equating the two yields,

(%) () (E5)-(%) ()
Cy Py i t41 Cy Py

where ¢; is the nominal exchange rate between home and country i. Using the

definition of the real exchange rate, Q;; = S'i},f:, this can be written as,
Ciy Cj
: — 0. (= 59
Qz,t-i—l <Ct+1 Qut Ct ( )

This can be iterated backwards, so that,
Ci g
it | = | = Qit—i | = 60
0 () =0 (2) (60)
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In other words risk sharing implies that the relationship between consumption
at home and country ¢ is given by the following expression,

Cr =2'C{ Qi (61)

where z* is a constant which depends upon initial conditions. Loglinearising
and integrating over all countries yields,

c=c"+gq (62)

where ¢* = fol c'di,or using the relationship between the terms of trade and the

real exchange rate,
c=c"+(1—-a)s (63)

2.4 Allocation of Government Spending

The allocation of government spending across goods is determined by minimising

total costs, fol Py (7)G(j)dj. Given the form of the basket of public goods this

implies,

Pu(j)
Py

GU) = ( )G (64)

2.5 Firms
The production function is linear, so for firm j
Y(j) = AN(j) (65)

where a = In(A) is time varying and stochastic. The demand curve they face is
given by,

v = - va [ EEEwira o0
which we rewrite as, ]
V() = (2)y (67)

e—1

< dj} ' . The objective function of the firm is given by,

where Y = [f01 Y (j)

Z(ap)th,H-s [(1 — 7—§+S)Pg(j)t

s=0 t+s

Y (5)e+s —

Wits Y (j)ess(1 = 5)
Pt:s +A :| (68)

where s is an employment subsidy which can be used to eliminate the steady-
state distortion associated with monopolistic competition and distortionary sales
and income taxes (assuming there is a lump-sum tax available to finance such a
subsidy) and 7¢ is a sales tax. Using the demand curve for the firm’s product,

- o\ Pu(i)e s Pa(Des
. (1= i) B () Vi

Z( p) @ttt _Wt+s(PH(j\)t)—E Yips(1—x) (69)

5=0 Piis \PH t+s Atts
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The solution to this problem is given by,

S (1= = i ) P () Vi
(0p)°Qtt+s Wiss e lpe T (= (70)
; +€—pt:5 Py (j); 1PH,t+s +A£+S )

Solving for the optimal reset price, which is common across all firms able to
reset prices in period t,

Wiis Yiis
z:iO(QP)SQt,tJrs [6 p:_:—s PI€{,t+s Att-:_s}

Pri=—— — (71)
S22 0(0) Quas [(€ = D = 74 ) PP Yoro(1 = )]
Domestic prices evolve according to,
' .
j [(1 —0,)P ) 10, PY S (72)

Appendix 2 then details the derivation of the New Keynesian Phillips curve
for domestic price inflation which is given by,

Tt = BEymh 41 + A(mee + In(py)) (73)
where\ = w and mc = —a +w — pyg — In(1l — 7%) — v are the real
log-linearised marginal costs of production, and v = —In(1 — »). In the absence
of sticky prices profit maximising behaviour implies, mec = —In(u) where p is

the steady-state mark-up.

2.6 Equilibrium

Goods market clearing requires, for each good 7,

1
Y() = Cui) + [ Chlidi +G) (74)
0
Symmetrical preferences imply,

Py (j)

Cil) = a(22 ) e( i (75)
which allows us to write,
v =)0 - o [ EEDwivE )

Defining aggregate output as




allows us to write

Yy = u—®g§+aéuﬂgf&ﬁ+G (78)
= SYN[1—-a)C+ a/l Q;Cidi| + G (79)
= CS*"+G i (80)
Taking logs implies
In(Y -G) = c+as (81)
= y+In(l- g) (82)
= y—yg (83)
where we define g = —In(1 — %) As this condition holds for all countries, we

can write world (log) output as
1 . . .
Y= / (" +¢"+ as’)di (84)
0
However fol s'di = 0, so we have

1
yﬂ:/(€+gwﬁ=f+ﬂ* (85)
0
We can use these relationships to rewrite (23) as

v = By} — (re — B{meea} — p) — Ee{gir1 — 9} — aBy{st11 — 54}
= By} — (e — BEdmmata} — p) — Ee{ger1 — gt} (86)

While wage inflation dynamics are determined by,

Tire = BB + (pne = wi + ¢+ pe — (1 — 7)) + (")) (87)

_Tw
(1 + pew)
Here the forcing variable captures the extent to which the consumer’s labour
supply decision is not the same as it would be under flexible wages. Define this
variable as mc® = pny — wi + ¢ + pr — In(1 — 7¢). This can be manipulated as
follows,

me’ = on—w+pg+c+p—pyg—In(l—71) (88)
= pn—w+pg+ct+as—In(l—r7) (89)
= oy—(w—pyg)+c+s—In(l—7)—ga (90)
From above we had
y=c"+g+s (91)
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so we can also write marginal costs appropriate to wage inflation as
me’ = (14 @)y — (w—pu) —In(l —7) —g —pa (92)
Real wages evolve according to,

Wi —PHt=THs— THt + W1 — PHt—1 (93)

2.7 Summary of Model

We are now in a position to summarise our model. On the demand side we have
an Euler equation for consumption,

ye = E{yerr} — (e — E{maen} — p) — E{ge1 — gt} (94)
On the supply side there are equations for price inflation,
Tt = BEATH 1} + Amer + In(p)) (95)

where A = [(1 — 80)(1 — 6)]/0 and mc = —a+ w — pg — In(1 — 7°) — v. There

is a similar expression for wage inflation,

T = 6Et7rﬁt+1+(1+77;6)((1+g0)ytf(wt—pH,t)—ln(lfn)fgtfgaaﬁln(ui”))
(96)

which together determine the evolution of real wages,
Wt — PH,t = T — THt + Wi—1 — PHt—1 (97)

The model is then closed by the policy maker specifying the appropriate values
of the fiscal and monetary policy variables. However, although this represents
a fully specified model it is often recast in the form of ‘gap’ variables which are
more consistent with utility-based measures of welfare.

2.8 Gap variables

Define the natural level of (log) output y™ as the level that would occur in the
absence of nominal inertia and conditional on the optimal choice of government
spending, the steady-state tax rates and the actual level of world output. Define
the output gap as

y=y—y" (98)
With flexible prices and wages we have mc” = —p  and mc”"™ = —pu®(see
above). Substituting into the expressions for mc and mc® implies,

—In(p) =—a+w" —pfh —In(1-7°) —v (99)

where the consumption tax rate has been ‘barred’ to denote its steady-state
value. Solving for equilibrium real wages,

w' —ph=—In(pw)+a+In(l -7 +v (100)
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Similarly for the ‘marginal costs’ determining wage inflation,

—In(p") = (1+¢y" —(w"—py)—In(1-7) - g" + ¢a (101)
—In(u") = (n(p)-In(1-7")—v+1+9)(y" —a)—In(l -7) - g"
y" = a+g"/(1+¢)+ (v+In(l =7) —In(x) —In(u"))/(1+¢)

We can rearrange this as
—(v+In(1=7) —In(u) —In(u")) = a(l+¢) +g" —y"(1 +¢) (102)

We can then write

me™9 = mc¥ +In(py’) (103)
= (I+¢)y—(w—pu)—In(l-7)—g—pat+n(’) (104)
= (14+¢)y! —¢? — (w? —pY) —In(l —7)9 (105)

where In(1—7)9 =1In(1—7)—1In(1—7). Substituting this into the Phillips curve
for wage inflation gives,

T = BEM%,Hﬁ( (1+¢)y? =97 — (w? —pf) =In(1—-7)7+u;") (106)

w
1+ Soew)
where v’ = In(u}’ /a") is the wage mark-up shock. A similar expression for
price inflation is given by,

Tre = BEAT e} + A(w] —pg ) —In(1 = 77)7 + 4] (107)

where v} = In(ul /P) is the wage mark-up shock and the ‘gapped’ real wage
evolves according to,

wi — pi]ﬁl,t = W%,t = THg Wy — p%,tfl — A (108)
We can also write (86) for natural variables as
vt = By} — (0 = p) = Blgia — 9¢'} (109)
0
i =p+ Edyt — vt — Edgl —9i' (110)
This allows us to write (86) for gap variables as

vi = v — i = Edyla} — (e — B{mmea} — i) — Blgl, —gf}  (111)

Note that, given (101), the real natural rate of interest depends - like natural
output - only on the productivity shock, the steady-state levels of distortionary
taxation and the optimal level of government spending.
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3 Optimal policy

3.1 The Social Planner’s Problem in a Small Open Econ-
omy.

The social planner simply decides how to allocate consumption and production
of goods within the economy, subject to the various constraints implied by oper-
ating as part of a larger group of economies e.g. IRS. Since they are concerned
with real allocations, the social planner ignores nominal inertia in describing
optimal policy .

The social planner will produce equal quantities of all goods, so we can write

Y = AN (112)
Combining aggregate demand and international risk sharing implies

In(C) = In(C*)+(1-a)ln(S) =In(C") + (1 — a)(In(Y — G) — In(C(1))3)
= aln(C*)+(1—-a)ln(Y — G) (114)

The social planner maximises

Nite
subject to these two constraints, which implies (max wrt G and Y),
11—« Nite
_ = 11
Y -G Y 0 (116)
11—« X
— = =0 117
Y-G G (117)
so that
N = (I—a+Y)™% (118)
Yx
G = ——2~ 119
l-—a+x (119)
which implies the optimal value for g,
g=1In(1+—2) (120)
1—a

3.2 Flexible Price Equilibrium

Profit-maximising behaviour implies that firms will operate at the point at which
marginal costs equal marginal revenues,

mc”™ = —In(p") (121)
= —In(l—-7)+a+1+¢pn"—g"— (" —pY)
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—In(p) +In(1 = ) —In(1 - 7) = In(1 - 7%)

Now if G™ is given by the optimal rule (120), then

and if the subsidy s is
(1 =)

then

+(1 4+ @)n™ +In(l — %)
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(122)

(123)

(124)

(125)

(126)

is identical to the optimal level of employment above. Here the subsidy has
to overcome the distortions due to monopoly pricing in the goods and labour

markets, as well as the

distortionary income and sales taxes.

3.3 The Social Planner’s Problem in a Monetary Union

Here the social planner maximises utility across all countries subject to

Y'o=

1
C;'+/ Cldj + G'
0

Recall that utility for country i at time t is

and

Optimisation implies
(N

This implies
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The latter implies g = In(1 4+ x?) which is a different fiscal rule than in the case
of the small open economy. Why? In the small open economy case governments
have an incentive to increase government spending (which is devoted solely to
domestically produced goods) to induce an appreciation in the terms of trade. In
aggregate this cannot happen, but it leaves government spending inefficiently
high. The government spending rule under monetary union eliminates this
externality. This also has implications for the derivation of union and national
welfare which are discussed below.

3.4 Social Welfare

Appendix 3 derives the quadratic approximation to utility across member states
to obtain a union-wide objective function.

1+X & w1+ pew) i 1 ,
r o= Zﬂt [t S e ik ) 4 L gl

+m~p+o(||a\| ) (136)

It contains quadratic terms in price and wage inflation reflecting the costs of
price and wage dispersion induced by inflation in the presence of nominal inertia,
as well as terms in the output gap and government spending gap. The weights
attached to each element are a function of deep model parameters. The key
to obtaining this quadratic specification is in adopting an employment subsidy
which eliminates the distortions caused by imperfect competition in labour and
product markets as well as the impact of distortionary sales and income taxes.
It is also important to note that it is assumed that national fiscal authorities
have internalised the externality caused by their desire to appreciate the terms
of trade through excessive government expenditure.

In deriving national welfare for an economy outside of monetary union this
externality is not corrected. It can be shown that the objective function be-
comes,

. 1— w 1 w w 1 7
woo Uoaty Zﬁ s+ B s (214 )+ 2 (6

+tip—|—0(||a|| ) (137)

which is in the same form as the union-wide welfare function. However it differs
in the first term multiplying the objective function and in the definition of the
efficient steady-state around which the ‘gapped’ variables are defined, which
reflects the externality which is accepted as a fact of life outside of EMU, but
which is eliminated within EMU.
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4 Precommitment Policy

In this section we shall consider precommitment policies for the various variants
of our model.

4.1 Precommitment in the Small Open Economy

We shall initially consider policy in an economy not participating in monetary
union. Aside from a direct interest in assessing the potential role for stabilising
fiscal policy within a small open economy under flexible exchange rates, this
is also informative as union-wide monetary policy will be of the same form as
national monetary policy in the open economy. In the small open economy case,
our ‘gapped’ model of country 7 consists of the following equations. Firstly, the
Phillips curve for wage inflation,

T8 = BEm Y,y + (L +@)y? — g0 — (wp? —p?y) —In(1 - 75 +u)’) (138)

where we define real wages as rw;? = wy? — pf, and A\, = ﬁhand have
k) w

added uy’ - an iid shock to the steady-state mark-up in wage setting. The similar
expression for price inflation is given by,

Tip = BE{mipin} + M(wp? —pfy) —In(1 = 77°)9 4 uf] (139)

where u} is an iid shock to the steady-state mark-up of the imperfectly compet-
itive firms. The ‘gapped’ real wage evolves according to,

Pl =l — w4 Tl - Ad (140)
Finally there is the euler equation for consumption,
v’ =907 + EB{yip1 — gipa + Tiga ) — (rp —1") (141)

The objective function for the national government is given by,

e € €Cw w i 1 7
S Stk S G0 26 e
t=0 w

and its instruments are interest rates, government spending and the two tax
rates. Forming the Lagrangian,

= € €w s w i 1
L= ATyt 20 + ) (1 9) + (o)
t=0 w

AT U = BEm sy — M(L+ @)y — gv? — (rwp?) —In(1 — 71)7 + )
A (i — BEmi a1} — Alrw™? —In(1 — 77%)9 4 u}])
XN (! — 97 — Edydy — 908 + mia b + (ri —ry™)

W, 1,9 w i,g i
FA T (rwy? = T+ T — rwg ) + Aay)]
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where dated A with superscripts denote lagrange multipliers. The first-order
condition (foc) for the interest rate is

AV =0 (143)

When there is a national monetary policy it is as if the monetary authorities
have control over consumption such that the consumption Euler equation ceases
to be a constraint. The foc for the sales tax gap, In(1 — 79%)9, is

M =0 (144)

i.e. the price Phillips curve ceases to be a constraint on maximising welfare
- sales tax changes can offset the impact on any other variables driving price
inflation. Similarly, the condition for income taxes is given by,

XA =0 (145)
The remaining focs are for real wages,
SN XGAT TN BEAY = (146)
inflation,
%Wi,t FAT AT = BT N =0 (147)
wage inflation,
2;—:7r;‘jt BED VLD VAL VL) (148)

the government spending gap,

2 . ~ w . .

i+ M =+ AT =0 (149)
and the output gap,

21+ )7 — (L + AT AP = BTN, =0 (150)

Combinations of these first order conditions define the target criteria for a
variety of cases, such that alternative fiscal regimes are modelled by retaining
or dropping the focs associated with a specific fiscal instrument. In deriving
precommiment policy we consider the general solution to the system of focs
after the initial time period, which gives us a set of target criteria which policy
must achieve. In the initial period we have two ways of solving the system
of focs. We can derive a set of initial values for lagrange multipliers dated at
time t=-1, such that the target criteria are also followed in the initial period -
this constitutes what is known as the policy from a ‘timeless perspective’ (see
Woodford 2003). Alternatively we can allow policy makers to exploit the fact
that expectations are fixed in the initial period and utilise the discretionary
solution for the initial period only. This amounts to setting the time t=-1 dated
lagrange multipliers to zero (see Currie and Levine (1993)). Although we adopt
the latter approach in simulations, we do not report the focs associated with
the initial period in order to conserve space since these do not provide any
additional economic intuition.
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4.1.1 Small Open Economy - All Fiscal Instruments

Let us consider the case where the fiscal authorities have access to government
spending and both tax instruments in order to stabilise their economy, when
operating alongside the national monetary authorities. Appendix 5 details the
derivation of target criteria in this case which are, for government spending,

67 =0 (151)
the output gap, 4

y? =0 (152)
price inflation,

mit =0 (153)
and wage inflation,

T =0 (154)

In other words the effects of shocks on these gap variables are completely offset
and do not have any welfare implications. Since these target criteria are all
static, it will also be the case that the optimal discretionary policy will be the
same as this precommitment policy. In terms of policy assignments, monetary
policy ensures the output gap is zero. Wage inflation is eliminated by the
following rule for income taxes,

In(1—70)9 = —rwb? +u? (155)

while a similar form of rule (but of the opposite sign) for sales taxes eliminates
price inflation, _ ,
In(1 —7p°)9 = rwy? +ul (156)

This shows that with appropriate fiscal instruments available for stabilisation
purposes cost push-shocks become trivial to deal with, in contrast to the stan-
dard case where they are the shocks that imply the monetary authorities face a
trade-off in stabilising output and inflation (see, Clarida et al (1999) for exam-

ple).

4.1.2 Small Open Economy - VAT and Government Spending

Now suppose we only have access to the sales tax and government spending as
fiscal instruments (i.e. income taxes are fixed). In this case our government
spending rule becomes,

i L
v’ + ;959 =0 (157)

while monetary policy achieves the following trade-off between output and in-
flation under commitment,

Cw w € LA 9 _ 158
. T+ N it + " Yt (158)
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This is similar to the form of target criteria that emerges when only prices are
sticky and the only policy instrument is interest rates. Essentially the presence
of the sales tax instrument simplifies the target criteria that emerges when both
prices and wages are sticky, in the sense that the order of the dynamics of this
target criterion are lower than the would otherwise be (see Woodford (2003),
Chapter 7, and Section 4.1.4 below). The sales tax rule that simplifies the
output-inflation trade-off facing the national monetary authorities is given by,

Y —erwi? 4 eln(1 — 70°)9 —eul = 0 (159)
4.1.3 Small Open Economy - Income Tax and Government Spending

Now suppose we have the income tax instrument and government spending, but
sales taxes are fixed. Appendix 5 shows that our policy assignment contains the
previous government spending rule,

. 1 .
v gt =0 (160
X
which is our first target criterion.

The optimal mix of inflation and output to be achieved through the monetary
policy instrument gives us our second target criterion,

€w € 1 ig
=T; + <7, + —= Ay ’ =0 161
St it o (B?) (161)
and the income tax rule is,
L i i i ;
;%”+%ﬂ1+@%”—%”—mwg—mﬂ—ﬁV—Uﬁ=0 (162)

4.1.4 Small Open Economy - No Tax Instruments, Only Government

Spending

With only a single instrument the target criteria under commitment becomes
more complex, generating a target criterion for monetary policy with a mixture
of backward and forward-looking elements.

€ €w 1 i)
0 = Xﬂ-i’t + X—ﬂ':-ljt + X—Ay: 9

w w

(163)

1 i i i i w 1 i i
+X (Ayt’g +ew((L+ @)y — g7 —rwy? + ) + X_(A2yt’g - ﬁAzEtytfl))

w

Government spending follows the usual rule,
i 1
%g+;%g=0 (164)

This describes pre-commitment policy for all cases in the small open economy.
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4.2 Optimal Precommitment Under EMU:
The Lagrangian associated with the EMU case is given by,

[ Zﬂt SR S G 9) £ 1)’

AN, = BEmY 1 — Ao((L+ @)yt — gb% — (rwp?) — In(1 — 75)9 + u?)
AT (i — BEmi a1} — Alrwy? —In(1 — 77%)9] + uf)
AN (e = 907 — B{yy?y — g0fy + it + (e —1"))

rw,i .9 w i,9 ;
N (rwp? — T+ mie — rwp?) + Aay)|di

The key difference between this and the previous problem is that we now have
a national union-wide interest rate and welfare is integrated across all member
states. As a result, we no longer have an foc for the national interest rate, but
the foc for the union-wide interest rate is given by,

1
/ Nidi = 0 (165)
0

However, since all economies in our model are symmetrical in structure, we
can aggregate focs across our economies which delivers, in terms of union-wide
aggregates, an identical set of focs as we find in the small open economy case
above. Therefore, the target criterion for the ECB will take the same form as
that attributed to the national monetary authority, but re-specified in terms of
union-wide aggregates.
In terms of national focs, we begin with the foc for the sales tax gap, In(1 —
),
AT =0 (166)
i.e. the price Phillips curve ceases to be a constraint on maximising welfare
-VAT tax changes can offset the impact on any other variables driving price
inflation. Similarly, the condition for income taxes is given by,

A AT =0 (167)
implying that income taxes can control wage inflation, and for real wages,
SN AT TN - BENYY =0 (168)

The remaining first-order conditions are for inflation,

2 T, T, — 7 W,
fm FARE AT BTIARE AT = (169)
The foc for wage inflation is given by,
2¢€y w it i rw,i
)\—ﬂ'l A T = AL —ANTT=0 (170)
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All that remains is the foc for the government spending gap,
92 . - w . .
SO AT A BT = 0 (171)
and the output gap,

21+ @)yr? — (L + AT A = BN, =0 (172)

Combinations of these first order conditions define the national target criteria
for a variety of cases. Alternative fiscal regimes are modelled by retaining or
dropping the focs associated with a specific fiscal instrument. The details of
these manipulations are in Appendix 6.

4.2.1 EMU Case - All Fiscal Instruments

With all fiscal instruments, but the loss of the monetary policy instrument
we can no-longer eliminate the welfare effects of shocks. Therefore our policy
configuration is no longer trivial. It involves the following government spending
rule,

i L
1+ @)y’ + ;gt’g =0 (173)
which ensures the optimal composition of output. There is an income tax rule,
(L +¢)yr? = g7 —rwy? —In(l —74)¢ +up’ =0 (174)

which replicates the labour supply decision that would emerge under flexible
wages and thereby eliminates wage inflation, and a sales tax rule,

1+ @)yp? + e(In(l — 7¢°) — rwp? +uf) =0 (175)

which achieves the appropriate balance between output and inflation while
recognising that competitiveness will need to be restored once any shock has
passed. Again mark-up shocks are trivially dealt with by the appropriate tax
instrument.

With these fiscal rules in place in each member state, the ECB will act to
ensure the average output gap within the union is zero,

1
/ yldi =y =0 (176)
0

which will imply that the average government spending gap and rates of price
and wage inflation will all be zero in the union.

4.2.2 EMU Case - VAT and Government Spending

Our rule for the sales tax is given by,
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1 . , .
~gi = e(In(l — )7 — rul! + uf) ()
X

while the government spending rule is more dynamic, implying,

2 (14+¢) i i i
_agtﬂ = 27)115‘" + 26, (1 +9)yr? — g7 — rwy? +uy) (178)

+L~(Agi’g — BAEgf) +2 4 —’~_ ?) (Ayy? — BAEwy, /)

OXAw VA
With only two instruments and four constraints, the precommitment policy im-
plies a degree of both inertial and forward-looking behaviour typical of analysis
of monetary policy in such settings (see Woodford (2003), Chapter 7 ). With
these national fiscal rules in place, the ECB’s monetary policy will seek to
achieve the following balance between inflation and output for the union as a
whole,

€w o €

1

w w

4.2.3 EMU Case - Income Tax and Government Spending

Now suppose that income taxes are the only tax instrument. We have a rule for
this instrument of the form,

0 = (149! —elrwp? +ul) — (1 +@)yp? — g7 — rwp? —In(1 = 74)9 + uf’)
€w i, i, i, 7,
+7((1 + ‘P)(ﬁEtyt-& —y?) — (ﬁEtgt-f-G -9:7) — (ﬁEt“Z‘fUH —uy) (180)
—(BErwify — rwi?) = (BE;In(1 = 71,1)7 — In(1 = 75)9)

which is complemented by our standard government spending rule,

1 i
;gt’g + (1 +9)y? =0 (181)

Assuming the national fiscal authorities implement these rules, then the ECB
will seek to achieve the following balance between output and inflation across
the union as a whole,

€w _w

€ 1
—7Y 4+ -+ —(Ay?) =0 182
N t Iy t )\/\w( yt) ( )

4.2.4 EMU Case - Government Spending the Only Instrument

Appendix 6 details the solution in this case, which is too complex to afford any
real intuition. Numerical analysis of this and the other cases is considered in
the next section, together with a comparison with policy under discretion.
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5 Optimal Policy Simulations

In this section we examine the optimal policy response to a technology shock
both within and outside monetary union. We consider discretionary and com-
mitment policies and compute the welfare benefits of employing our various fiscal
instruments as stabilisation devices. In this section we outline the response of
the model to a series of shocks. Following GM we adopt the following parameter
set, p=1,1=12,e=06,0, =0.75, 3 =0.99, o = 0.4, and v = 0.25. The ratio
of government spending to gdp of 0.25 implies that xy = % = 1/3 in the EMU
case. Additionally, since we have sticky wages we need to adopt a measure
of the steady-state mark-up in the labour market. Following evidence in Leith
and Malley (2005), we choose p* = 1.2 (which implies €,, = 6), and a degree of
wage stickiness given by 6,, = 0.75, which means that wage contracts last for,
on average, one year. The productivity shock follows the following pattern,

ar = paar—1 + & (183)

where we adopt a degree of persistence in the productivity shock of p, = 0.6,
although we consider the implications of alternative degrees of persistence below.

5.1 Small Open Economy Simulations

We begin by considering the response of a small open economy to a 1% tech-
nology shock with the degree of persistence described above, when no use is
made of fiscal policy for stabilisation purposes i.e. only monetary policy is used
to stabilise the economy in the face of shocks. Figure 1 details the responses
of key endogenous variables to the technology shock, under both commitment
and discretion®. It is important to note that, in the absence of sticky wages,
monetary policy could completely offset the welfare consequences of this shock
by reducing interest rates in line with the increase in productivity. This would
ensure that domestic and foreign demand rises for the additional products and
that the full effects of the productivity gain are captured in real wages. How-
ever, when nominal wages are also sticky it is not possible for monetary policy
alone to offset the effects of the shock. As a result of the wage stickiness, real
wages are slow to rise following the positive productivity shock and, as a result,
marginal costs fall initially and this means that the initial jump in inflation
is negative. This leads to a cut in nominal interest rates (greater than that
implied by the productivity shock’s affect on the natural interest rate) and a
jump depreciation of the nominal exchange rate, although interest rates will be
relatively lower after this initial jump as rising marginal costs increase inflation.

3In the small open economy case, v = such that fixing the share of government

X
11—«
spending requires a rescaling of x to take accoﬁit of the incentive to excessive government
spending which is assumed to be eliminated within the union. In the simulations, to facilitate
comparisons, we fix x at the value described above in both the open economy and EMU cases.

4The numerical solution of optimal policy under commitment and discretion is based on

Soderlind (2003).
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The terms of trade depreciate initially, but this is far more modest than in the
flexible wage case. As a result consumption rises in the home country relative
to abroad, but not by as much as output since the depreciation of the terms
of trade makes domestic goods attractive to foreign consumers. Implicitly IRS
and the positive productivity shock imply that resources are being sent abroad
to support foreign consumption, although this is not as pronounced as in the
flexible wage case.

We know from our derivation of optimal policy above that when we utilise
all fiscal instruments we can completely offset the impact of this shock on all
welfare-relevant gap variables, implying that there is no welfare cost to the
shock. Essentially, the monetary instrument eliminates the impact on the output
gap of the shock by cutting interest rates. This creates demand for domestically
produced goods by encouraging domestic consumption, which has a bias towards
domestically produced goods, and depreciating the exchange rate leading to
an increase in foreign demand. Income taxes are reduced to eliminate wage
inflation, but simultaneously achieve the required increase in the post tax real
wage. The sales tax is increased to eliminate the deflation that would otherwise
emerge as a result of the reduction in marginal costs (due to falling income taxes
and rising productivity). There is no need to adjust government spending when
the government has access to the tax instruments without constraint.

We can also consider a number of intermediate cases where not all fiscal
instruments are employed. The welfare benefits of various combinations of fiscal
instrument are given in Table 1°. These suggest that the greatest gains to
stabilisation in the open economy case come from the tax instruments, with
only relatively minor benefits from varying government spending. Either tax
instrument is highly effective in reducing the welfare costs of the technology
shock.

Table 1 - Costs of Technology Shock in Small Open Economy with Alternative

Fiscal Instruments.
No Taxes Income Tax Sales Tax Both Taxes

Commitment Policy

Govt Spending 0.5793 0.0673 0.0863 0
No Govt Spending 0.5804 0.0708 0.0915 0
Discretionary Policy

Govt Spending 0.5824 0.1051 0.1356 0
No Govt Spending 0.5835 0.1082 0.1412 0

The second kind of shock we consider are one-period iid mark-up shocks
for price and wage-setting respectively. The impact of a 1% increase in the
steady-state mark-up for one period is given by,

5The figures in Tables 1-3 capture the costs of deviating from the efficient level of variables
due to sticky-wages and prices in the face of the particular shock, expressed as a percentage
of one-period’s steady-state consumption.
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Table 2 - Costs of Price Mark-Up Shock in Small Open Economy with Al-

ternative Fiscal Instruments.

No Taxes Income Tax Sales Tax Both Taxes
Commitment Policy

Govt Spending 0.1539 0.1519 0 0
No Govt Spending 0.1541 0.1519 0 0
Discretionary Policy

Govt Spending 0.1588 0.1532 0 0
No Govt Spending 0.1573 0.1532 0 0

Table 3 - Costs of Wage Mark-Up Shock in Small Open Economy with Al-
ternative Fiscal Instruments.

No Taxes Income Tax Sales Tax Both Taxes
Commitment Policy

Govt Spending 0.0222 0 0.0218 0
No Govt Spending 0.0228 0 0.0224 0
Discretionary Policy

Govt Spending 0.0283 0 0.0266 0
No Govt Spending 0.0286 0 0.0270 0

Here a sales tax can perfectly offset the mark-up shock in price-setting, while
the income tax can do the same for wage mark-up shocks, but each tax is rela-
tively ineffective at dealing with the other shock. As was the case for technology
shocks, government spending adds little to stabilisation in the open economy
under flexible exchange rates. There is a slight curiosity in the results in that
when the available instruments are government spending and the monetary pol-
icy instrument, then in the face of a wage mark-up shock it would be better
not to have access to the government spending when policy is discretionary.
Essentially, not having access to the government spending instrument in this
case, amounts to a form of commitment. However, the size of this effect is very
small.

5.2 EMU Simulations

We now consider the response to an idiosyncratic technology shock for a country
operating under EMU (see Figure 2). We begin by considering the case where
there is no fiscal response to the shock. In this case the equilibrating mechanism
is the need to restore competitiveness following the shock. Relative to the small
open economy case, there is now no monetary policy response to either the
local productivity shock or its inflationary repercussions. As a result there is
no attempt to boost consumption and output with a fall in interest rates in
response to the shock (in an attempt to replicate the flex price outcome). There
is an initial fall in real wages and inflation which induces a depreciation in the
terms of trade, although this is far smaller than in the open economy case above.
This shifts demand towards domestic goods such that prices and wages rise until
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the competitiveness gain has been reversed. In the presence of nominal inertia
and with no monetary policy/exchange rate instrument, it is difficult to induce
the necessary movements in the terms of trade/real exchange rate to create a
market for the extra goods that can be produced as a result of the productivity
shock. This failure is reflected in the large negative output gap and real wage
gap.

We then contrast this to the case where country i employs all the fiscal
instruments at its disposal. We find that optimal policy attempts to reduce the
impact of the technology shock on competitiveness. Therefore, following the
technology shock, sales and income taxes are increased. The latter completely
offsets the impact of the shock on wage inflation, while the latter allows for only
a very limited reduction in prices following the productivity shock. As a result
of this attempt to avoid price adjustment, there is a substantial negative output
gap, although this is partially offset by a rise in government spending. This
has the advantage of creating a market for the additional goods, which given
complete home bias in government spending, boosts real wages and moderates
the fall in inflation. There is now a smaller depreciation of the terms of trade
due to the changes in taxation and since there is less need to encourage foreign
consumption of the increased domestic production of goods due to the home
bias in government consumption. As we note below, the welfare gain from fiscal
stabilisation to this degree is an approximate halving of the costs of a technology
shock when part of a monetary union.

We again consider a number of intermediate cases where not all fiscal in-
struments are employed. The welfare benefits of various combinations of fiscal
instrument are given in Table 4. This suggests that the greatest gains to stabil-
isation, when part of monetary union, come from utilising government spending
as a stabilisation instrument. This is due to the assumed home-bias in gov-
ernment spending which allows policy makers to purchase the additional goods
produced as a result of the productivity shock without requiring any compet-
itiveness changes which subsequently have to be undone once the shock has
passed. It is also interesting to note that even with all fiscal instruments in
place the costs of the shock under EMU are still greater than in the small open
economy case with just monetary policy as the only available policy instrument.

Table 4- Costs of Technology Shock Under EMU with Alternative Fiscal Instru-
ments®.

Commitment Policy No Taxes Income Tax Sales Tax Both Taxes

Govt Spending 1.6707 1.6050 1.2089 1.1486
No Govt Spending 2.3121 2.1495 1.9988 1.8487
Discretionary Policy No Taxes Income Tax Sales Tax Both Taxes
Govt Spending 1.6755 1.6115 1.2131 1.1486
No Govt Spending 2.3121 2.1537 2.0073 1.8487

6The figures in Tables 4-6 capture the costs of deviating from the efficient level of variables
due to sticky-wages and prices in the face of the particular shock, expressed as a percentage
of one-period’s steady-state consumption.
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We also examine the impact of mark-up shocks within EMU in the following
two tables.

Table 5 - Costs of Price Mark-Up Shock in EMU with Alternative Fiscal
Instruments.

No Taxes Income Tax Sales Tax Both Taxes
Commitment Policy

Govt Spending 0.2241 0.2241 0 0
No Govt Spending 0.2242 0.2287 0 0
Discretionary Policy

Govt Spending 0.2241 0.2257 0 0
No Govt Spending 0.2242 0.2327 0 0

Table 6 - Costs of Wage Mark-Up Shock under EMU with Alternative Fiscal
Instruments.

No Taxes Income Tax Sales Tax Both Taxes
Commitment Policy

Govt Spending 0.0395 0 0.0394 0
No Govt Spending 0.0403 0 0.0403 0
Discretionary Policy

Govt Spending 0.0405 0 0.0411 0
No Govt Spending 0.0403 0 0.0419 0

The tax instruments are highly effective in dealing with the relevant cost
push shock, but are less effective in offsetting any mark-up shock in an area
where they do not affect the ‘cost’ variable. Unlike the case with technology
shocks under EMU, government spending has little impact in offsetting the im-
pact of mark-up shocks. Again, when considering wage mark-up shocks, it would
be better to only utilise the monetary policy instrument rather than in combi-
nation with government spending when policy is conducted under discretion -
however this is a very small effect.

Finally, in order to assess the importance of fiscal policy in such a stochastic
environment we subject our economies to stochastic shocks taken from Smets
and Wouters (2005). They obtain estimates for the stochastic properties of a
series of shock processes hitting the Euro area and the US. In our simulations we
assume that an individual economy within EMU is struck by idiosyncratic shocks
with similar stochastic properties. We focus on three shocks: namely price and
wage mark-up shocks which are taken to be iid shocks, and an autocorrelated
productivity shock. To convert this to consumption equivalent units we follow
Kirsanova and Wren-Lewis (2004) and calculate the expected welfare loss of
the shocks under alternative policy regimes. Our quadratic loss function for an
individual economy can be written as,

o0
I = B BY.QY,

s=0
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= Ettr(QiﬁsY;Y; )

s=0

where Y;' is a vector of variables defined in the Appendix and @ is a matrix
reflecting the weights derived for the quadratic loss function above. After im-

plementing the optimal policy, the system will follow an AR(1) process’,

Ys+1 = MY, + Es+1
It follows that,

1

61/01/0’

ZﬁSYsHYslH = M(Z BYY,)M' + Zﬁsfsﬂg;ﬂ +
s=0 s=0 s=0

Taking expectations, and assuming that the economy was initially in equilibrium
gives,
oo , /B
EoV =Eo) YYo= BME VM + ——3
s=0 1= ﬁ
where ¥ is the variance-covariance matrix for the shocks. Kirsanova and Wren-
Lewis (2004) show that this vector can be solved for,

vec(EgV)=(I - M ® ]\4)_11}ec(1 ﬁﬂE)

and inserted above to give the ex ante utility loss due to sticky prices and wages
given the size of shocks that are expected to hit the economy. Since utility is
logarithmic in consumption UcC' = 1, the second order approximation to utility
is already in consumption equivalent units. It should be noted that this measure
of welfare only captures the costs of deviating from the efficient level of output
due to price and wage stickiness. These costs can be converted into average
steady-state consumption equivalents by multiplying by 1 — 8. Using the Smets
and Wouters (2005) shock processes we obtain the following numbers, detailed
in Table 8.

Table 7 - Benefits of Fiscal Stabilisation®

Benefits of Fiscal Stabilisation No Fiscal Response Full Fiscal Response
Small Open Economy 2.37% 0%
Monetary Union 3.91% 1.90%

TOf course, the M matrix will differ according to whether or not we are considering dis-
cretionary or commitment policy.

8The figures in Table 7 capture the expected costs of deviating from the efficient level
of variables due to sticky-wages and prices in the face of ongoing shocks, expressed as a
percentage of steady-state consumption.
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5.3 Implementation Lags

A frequently cited argument against employing fiscal instruments in a stabil-
isation role is that it often takes long periods to implement the tax changes
and government spending changes suggested by optimal policy. In this sub-
section we assess the extent to which implementation lags affect the welfare
gains from fiscal stabilisation. We assume that it takes n-periods to change pol-
icy instruments following a change in the information set. This can be modelled
by conditioning policy instruments on information sets of n-periods ago, such
that our structural model can be written as follows, with our NKPC for wage
inflation,

i = BET 1 +Xw((1 +<p)y§’g —Etfngi’g - (wi’g _Pf,t) —F;_,In(1—7%)9 -{UZEU;
184

the similar expression for price inflation,

i = BEAmiera} + Al(wp? = pf,) = Brop (1 = 74°)9 + uf] (185)
and the euler equation for consumption,

0’ = Brngy? + E{yiss — Brongiyr + migea} — (e — 1) (186)

The equation describing the evolution of the ‘gapped’ real wage is unaffected.
This implies that it will take n-periods following the shock for the fiscal author-
ities to be able to implement a fiscal policy plan. In assessing the impact on
such implementation lags on welfare we consider four cases: (1) There are no
lags in adjusting fiscal instruments; (2) there is a one period lag in adjusting
tax in struments and 2 periods in adjusting government spending; (3) there is
a two period lag in adjusting tax instruments and a one year lag in adjust-
ing government spending; and (4) fiscal instruments are not changed over the
course of the business cycle. It is clear that implementation lags do reduce the
effectiveness of fiscal instruments as stabilisation devices. However, there are
still non-trivial benefits from fiscal stabilisation even under the ‘slow response’
scenario. In particular, expectations that instruments will change in the future
will impact on private sector decisions today in a forward looking model.

Table 8: Implementation Lags’

(1) (2) (3) (4)

Inertia No Delay Moderate Response Slow Response No Response
p, =0.6 1.1485 1.8770 2.0451 2.3121
p, =0.9 26735 3.5055 4.0023 5.3955

Of course these results are highly dependent upon the amount of inertia in
the economy. For example, increasing the degree of persistence in the technology
shock from 0.6 to 0.9 implies that there the impacts of shocks are felt for longer,
implying that even with implementation lags fiscal policy has a valuable role to
play in stabilising the economy.

9These are expressed as percentages of one period’s steady-state consumption.
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6 Introducing Debt

In this subsection we consider the impact of introducing government debt to
our analysis of policy within a small open economy or within EMU'?. Until
now we have assumed that there was a lump-sum tax instrument which was
utilised to balance the budget whenever other fiscal instruments were used in a
stabilisation role. In this section we assume that any variations in government
spending or our sales or income tax instruments are not automatically adjusted
for in this way. Instead, any inconsistency between government tax revenues
and spending will affect government debt. Policy must then ensure that any
relevant government budget constraint is satisfied.

In the case of EMU, Appendix 7 derives the intertemporal budget constraint
for the union as a whole,

/D;di =R, 1By_1 = — Z Et[QnT(/ (Pi7TG§-v—W%N%(T%w—%i)—T;Spi)TY%—T%)di)]
T=t 0

(187)
where By is the aggregate level of the national debt stocks. With global market
clearing in asset markets the series of national budget constraints imply that
the only public-sector intertemporal budget constraint in our model is a union-
wide constraint. What is the intuition for this? Given complete capital markets
and our assumed initial conditions (zero net foreign assets and identical ex ante
structures in each economy) this means that initially consumers expect similar
fiscal policy regimes in their respective economies. To the extent that ex post
this is not the case, there will be state contingent payments under IRS that
ensure marginal utilities are equated throughout the union (after controlling
for real exchange rate differences)!!. This would seem to suggest that fiscal
sustainability questions within this framework are a union-wide rather than a
national concern. Given that a national government’s contribution to union-
wide finances is negligible then this could be taken to imply that debt is not an
issue in utilising fiscal instruments at the national level.

However, given the fiscal institutions which have been constructed as part of
EMU, it seems unlikely that without such constraints each member state would
expect to operate under ez ante similar fiscal regimes. Therefore it may be
reasonable to assume that each member state operates a budget constraint of
this form at the national level, such that there is no need for the only institution
with a union-wide instrument, the ECB, to be concerned with issues of fiscal
solvency. Therefore we impose, as an external constraint created within the

10Tn Leith and Wren-Lewis (2005), we consider the significance of adding debt to New
Keynesian models of monetary policy more fully.

I1For the purposes of illustration, suppose taxes were lump-sum and one economy unexpect-
edly cut all taxes to zero. There would be transfers from this economy to the other economies
to ensure that the consumers in the other economies were not disadvantaged by the higher
taxes they had to pay to ensure union-wide solvency.
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institutions of EMU, a national government budget constraint of the form,

o0
Dj =R Bi_y ==Y Ei[Qur(PyrG — WiNp(rh = 56) = 77" PorYi — Tp)]
T=t
(188)
We need to transform this budget constraint into a loglinearised ‘gap’ equa-
tion to allow it to be integrated into our policy problem. Additionally, in order to
support the assumption that the steady-state level of output was efficient (which
was implicit in the welfare functions we developed) an obvious assumption to
make is that lump-sum taxation is used to finance the steady-state subsidy
(which offsets, in steady-state, the distortions caused by distortionary taxation
and imperfect competition in wage and price setting). We shall then assume
that lump-sum taxation cannot be used to alter this subsidy or to finance any
other government activities, including the kind of spending and distortionary
tax adjustments as stabilisation measures we are interested in. This implies
that W4 Nl = Tk in all our economies at all points in time, allowing us to
simplify the budget constraint to,

Ry 1Bl ==Y EQur(P.rGr — WiNprhe — 7 Py V)] (189)
T=t

i.e. distortionary taxation and spending adjustments are required to service
government debt as well as stabilise the economy. This defines the basic trade-off
facing policy makers in utilising these instruments. This intertemporal budget
constraint implies the flow budget constraint,

Bl = R, _\Bi_, + Pi,Gi — P, Yi10® — WiNiT! (190)

Rewriting in real terms and in a form consistent with the gapped definitions of
the tax rates,

By P Bi_, ; ; ; ey, Wi N W
=R 1 —-————-Y' +G+Y' . (1—-77")+ N(1—7}) — N{
Pi,t t—1 Pi,t P ,t t ,t( t ) Pi,t t( t) Pi,t t
(191)
This can be log-linearised as,
by = Rbi_+R(ri1—mie) + = InGi + # In(1 —7¢%)(192)
B
7Y (1 -7 N . FON .
CTY i BTNy TN
B/P
—_ =i = G —i 1 — 758 ?i ;
BB - R(F) - %mG - #111(1 — 7
B b
TSV (1 — FFTN  Fr N ‘ ‘
Ty ATITON gy D TN
B
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where b} = ln(i) and B' = (Bt/P;). Re-writing in gap form,

Py
_ _ G . (1=FY >
b = Rb_, +R(r{, —mis) +— G+ Q-TAV ~ X - rioyas)
B
Y (—F)TN iy TN o
———y’ + % In(1 —73)? — ——=—(rwy? +ny?)
B
From the production function to the first order, yi’g = n;q , so this can be
rewritten as,
i =i = G i 1—74%)y i)s
by? = RbyY +R(r)_, —mi) + 5 In Gy + 1=y ET )7 In(1 —73%)¢ (194)
o —i —i R —i
7V FwN |, (1-T)F@'N ng TTON
S TN e WETTEN, gty = TN gy

B
Note, however, that g; in the model is defined as, In(1 — %) This implies, to a
first order, that,

nG' = 1n(%)+1n(yi) (195)
= In(1 —exp(—g¢%)) + ¢ (196)

1_ 7,1 ) .
= 71 9 +y (197)

where 7%" = G/Y. In gap form this becomes,

,m

. 1 —
InGho = — 1

,71,71,

g +yh (198)

Introducing this to the budget constraint,

i i - G 19", 1 7)Y '
B = T R )+ S e BTV i)
B 7 B
_ . 1—F)FwN W A
@y LETITON g iy TNy
B

This is our national government budget constraint, which must remain station-
ary as an additional constraint on policy makers.

6.1 Optimal Precommitment Policy with Government Debt

6.1.1 Open Economy Case
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The Lagrangian associated with the open economy case in the presence of a
national government budget constraint is given by,

e €w s w i 1
Lo = Y B'lmh+ =5(m)? + )1+ 9) + —(0)?
t=0 )\w X

AT T = BEmYy — Au(L+ @i — g7 — (rwp?) — In(1 — 7)9))
AN (mip = BE{ i1} = Alrwp? — In(1 — 7¢%)9))

AW = 9y = Byt — 97 + maaa} + (=)

FAT (9 — T+ T — rwi?, + Aay)

N (B = Rbpty = Ry = mwig) = bygy”? — bre In(1— 7))

+byyé’g — by In(1 — 79 4 bpyrwi?)]

 Tiiain I _ A-7HTN' _
where bg = ?%n—, b-,—s = Tby =R-— l,bT = ?7 and brw =

@ The foc for the national interest rate is given by,

AN BV =0 (200)

Here monetary policy must now take account of its impact on the government’s
finances.

In terms of national focs, we begin with the foc for the sales tax gap, In(1 —
Ti,s)g,

AT — b A =0 (201)
Similarly, the condition for income taxes is given by,
XAl = AT =0 (202)
and for real wages,
SO AT A = BATY A b AL =0 (203)

The remaining first-order conditions are for debt,
A AR, = 0 (204)

which implies that, EO/\S’i = A" vt . In other words policy must ensure that
the ‘cost’ of the government’s budget constraint is constant following a shock
which is the basis of the random walk result of Schmitt-Grohe and Uribe (2004).
This also implies that the lagrange multipliers for the wage and price phillips
curves are constant over time too. The remaining focs are for inflation,

2¢

Tt AP AT = BT AT RAY =0 (205)
wage inflation,
2w s e i
Xiw;'jt FAFTE AT et (206)
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the government spending gap,

92 . - . , .

SO RN = AT BT — by A = 0 (207)
and the output gap,

21+ @)y — A (14 @)AF *+ AV — g7V b, A0 =0 (208)

Combinations of these first order conditions define the national target criteria
for a variety of cases. In the open economy case the optimal combination of wage
and price inflation is given by,

2¢ 2¢
Tﬂ-i’t + ’X_wﬂ-;ljt =0 (209)

w
This essentially describes the balance between wage and price adjustment in
achieving the new steady-state real wage consistent with the new steady-state
tax rates required to stabilise the debt stock following the shock. Taking the
foc for the output gap, we have,

201+ @)y + A" (=br(L+9) + (1 =57 +b,) =0 (210)

which defines the value of the Lagrange multiplier associated with the govern-
ment’s budget constraint which implies that the output gap is constant, but
non-zero. The sales and income tax rules for the open economy case are given
by, respectively,

—2¢(rwp? —In(1 — 70°)9) 4 (b + by — brs)A™ =0 (211)
and,
20w (1 4+ @)yid — gt — rwh? —In(1 — 71)9)) 4 (brw + br — bys)A® =0 (212)

Finally the government spending rule is given by,
2 g 1 by
L +(br = (1=877) = bg)A"" =0 (213)

which is again constant given the lagrange multiplier A»% . Leith and Wren-
Lewis (2005) show that this lagrange multiplier, associated with the budget
constraint, can be solved as a function of the size of the initial debt stock and
the expected fiscal repercussions of any modelled shock. They also investigate
the nature of the time inconsistency problem inherent in adding debt to the
model, which is discussed in the simulation section below.

Taken together these target criteria imply that optimal policy ensures that
output and government spending adjust instantaneously to their new steady-
state levels, while gradual price and wage adjustment implies that it is optimal,
under commitment, to gradually reach the new steady-state tax rates consistent
with debt sustainability.
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6.1.2 EMU Case

If we formulate the corresponding problem for the EMU case we have,

1 o©
€ €w / w , L
L= [ SR S O 0+ )

t=0 w
"‘)‘?w’i(ﬁﬁt - /BEtWZ)H-l - Xw((l + 90)1/?9 - 9?9 - (”U?g) —In(1— Ti)g)
AT (g = BEAmi 1} — Alrwy? —In(1 = 74%)7))
A W = 97 = B{fy — 9efy F miga )+ (e —1p™)
T (- T+ i — rw?, + Aay)
TN (b = RO, — Ry —mig) — byg? — bye In(1 — 779
+byy§’g — by In(1 — 79 4 by rwi?)]di
In order to obtain intuition for optimal policy in this case it is helpful to

relate the (constant) value of the lagrange multiplier associated with the na-
tional government budget constraint to national output and government spend-

ing gaps,
, 92 . ,
21+ @)y’ + }gi’g + (by — @by — by A" =0 (214)
which also implies a constant relationship between the output and government

spending gaps following a shock.
There is an income tax rule,

26, ((1+ cp)y,f’g — gi’g — rwi’g —In(1 —7)9) + (b + br — brs)AP =0 (215)
and a sales-tax rule,

0 = 20+ 4+ (by — @by +1— B 4 by — b)A" (216)

—Qe(rwti’g —1In(1 - Ti’s)g)
and a government spending rule,

(b —by—14+57")
(=br(L+ @) + (1= 871) +0y)
(b — by — 1+ 571
(=br(1+9)+ (1= B7") +0y)

(b by~ 1457
(=br(1+ @) + (1= 671) +0y)
which in conjunction with the tax rules, will achieve the constant relationship

between government spending and the output gap given above. Here we can
see that the presence of the national government budget constraint essentially

2 7 7
0 = ;gt’g —2(1+¢) y?

+2¢(1 + )(rwp? —In(1 — 74%)9)

+2¢, (1 +
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introduces a constant wedge into the target criteria outlined above for the EMU
case without debt which reflects the needs to adjust fiscal instruments and
steady-state output and real wages to be consistent with the new steady-state
level of government debt which follows a random walk.

While the ECB will set the union-wide interest rate consistently with the
following first-order condition,

1
/ N — B )di =0
0

Assuming that the national fiscal authorities will follow these fiscal rules, this
will ensure that union-wide monetary policy achieves the following balance be-
tween wage and price inflation,

€ €w _w
1t Xiwt =0 (218)

w

with other union wide variables following paths consistent with the target cri-
teria outlined for the small open economy case above.

6.1.3 Simulations

In this section we consider using numerical simulation the ability of an small
open economy operating inside and outside of MU to stabilise the economy fol-
lowing a productivity shock through the use of fiscal instruments when it must
also ensure sustainability of the government’s finances. Figure 4 details the
paths of key endogenous variables following the same technology shock consid-
ered above when the economy is a member of monetary union. In the case of
commitment policy, the results are very similar to the case where there was a
lump-sum tax instrument balancing the national fiscal budget. The main differ-
ence is that there is a gradual reduction in government debt in response to the
higher tax revenues generated by the positive productivity shock, until it reaches
its new lower steady-state with reduced sales and income taxes and higher gov-
ernment spending to satisfy the national fiscal constraint. This is essentially
a generalisation of the random walk result of Benigno and Woodford (2003)
and Schmitt-Grohe and Uribe (2004), which also has echoes of tax smoothing
(Barro (1979)), but with additional inertia caused by the various sources of
inertia in the model. Essenitally, following the shock we have a random-walk
in the steady-state debt and tax levels. However, these differences have little
welfare implications with the costs of the shock rising from 1.150% to 1.154%.

A more substantial difference occurs when we consider the discretionary so-
lution. Under discretion the national fiscal authorities taking future inflationary
expectations as given, are tempted to use inflation rather than their fiscal in-
struments to stabilise national government debt. As a result, the larger initial
fall in inflation and the initial fall in income taxes serves to increase rather than
reduce debt initially. This temptation, which is a form of inflationary bias, re-
mains unless the debt stock returns close to its initial value (this is demonstrated
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formerly in Leith and Wren-Lewis (2005)). Therefore, even although there is
no explicit debt target, optimal discretionary policy eliminates the effects of
the productivity shock on the debt stock. In this particular case, the welfare
consequences of the shock are not dramatically affected by the introduction of
government debt and welfare costs rise from 1.150% to 1.193% of one period’s
steady-state consumption.

We can also consider the same experiment in the case of a small open econ-
omy operating outside of monetary union. Without the need to utilise dis-
tortionary instruments to ensure fiscal solvency we have already seen that the
combination of monetary and fiscal instruments can perfectly offset the impact
of technology shocks in a sticky wage/price economy. However, when the gov-
ernment must also ensure fiscal sustainability by varying distortionary fiscal
instruments this first-best solution will no longer be attainable. Using our usual
technology shock we find that the welfare costs of having to stabilise debt follow-
ing an autocorrelated technology shock amount to only 0.0012% of one-period’s
steady-state consumption under discretion, and an insignificant 1.23x107%% un-
der commitment.

7 Conclusions

We have considered the potential role of various fiscal instruments in dealing
with a technology and two forms of cost-push shock in a microfounded open
economy model which contains both wage and price inertia. We looked at two
policy regimes: the case of flexible exchange rates where monetary policy is op-
timal, and the case where the economy is a member of a ‘large’ monetary union.
The three fiscal instruments we consider are government spending, income taxes
and sales taxes.

In the case of a small open economy, when all three fiscal instruments are
freely available, then the impact of the technology shock can be completely
eliminated, whether policy acts with discretion or commitment. However, once
any one of these fiscal instruments is excluded as a stabilisation tool, costs
emerge. Using simulations, we find that the useful fiscal instrument in this
case (in the sense of reducing the welfare costs of the shock) is either income
taxes or sales taxes. In contrast, having government spending as an instrument
contributes very little.

The results for an individual member of a monetary union facing an idiosyn-
cratic technology shock (where monetary policy in the union does not respond)
are very different. First, even with all fiscal instruments freely available, the
technology shock will incur welfare costs. Government spending is potentially
useful as a stabilisation device, because it can act as a partial substitute for
monetary policy. Finally, sales taxes are more effective than income taxes in
reducing the costs of a technology shock under monetary union. If all three
instruments are freely available, then the costs of the shock can be reduced by
around a half, compared to the case where there is no fiscal stabilisation. We
also found that implementation lags could significantly affect (but not elimi-
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nate) the ability of fiscal instruments to deal with shocks, but that the need to
ensure fiscal solvency when utilising tax instruments in a stabilisation role had
negligible welfare consequences.
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Appendix 1 - Wage Setting

Recall the optimal wage set by those households that are able to re-set wages
in period t,

By (X20(00)* [Quis Wit Ners (1= 7)])
Ei (2210(9“’)5 Qtiﬂ”wwtejrus(“wNtljfowspws])

W (k); 179 = (219)

Note that in equilibrium,

s Ct P\
4 <Ct+s> (Pt+s> = Qers (220)

Accordingly the expression for the optimal re-set wage is given by,

g tmeen - B(Eo(0ul)” Wit Nevs (1 = )0 Py ]) (221)
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This expression can be log-linearised as,

1 =+ pe _ 1 w > s
1 ;)wtéwt*l 0.8 In(u") = Ey (;(%5) [priess + €wpwips + Cops + Pros — In(1 = 74y4)]
(222)
Quasi-differencing this expression yields,
1+ ey 1+ ey _
Py = T 4 BE a1+ Mg €W s Crs TP~ (1T i) ()
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(223)
The wage index evolves according to the following law of motion,
7(1—€w) 1—e ﬁ
W, = [(1 - 0,)W! +0th,lw] (224)
Log-linearising this expression gives,
Wy = (]. — Gw)ﬁt + wat,l (225)

These two expressions can be solved for wage inflation to obtain the New Key-
nesian Phillips curve for wage inflation,

(]- - ew/B)(l — ew)
(1 + pew)buw

my = BB+ (pne—wi+ci+pr—In(1—7¢)+In(p")) (226)

here the forcing variable captures the extent to which the consumer’s labour
supply decision is not the same as it would be under flexible prices.

42

)



Appendix 2 - Price Setting

Recall the optimal price set by firms that are able to reset prices in period
t

oo s Wits pe Yiis
2520(917) Qt.t+s {ETISPHJ+S Atis}
S 000 Qs [ (€= (1 = T ) PPy 13 Yis (1= X)]

Note that in equilibrium,

s Ct Py
3 (ct+s) ( PHS) — Quiss (228)

Accordingly, the expression for the optimal price can be re-written as,
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This can be loglinearised as,

Py = (227)
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(230)
where Dy, is the log of the optimal price set by those firms that were able to set
price in period t, and v = — In(1 — x).Quasi-differencing this expression yields,
1 _ 1
1—0,3"7 = 1-0,8

While domestic prices evolve according to,

0pBEDy 411 — at +wy —In(1 —77) — vy +In(p,) (231)
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This can be log-linearised as,

e = (1= 0,)Dp, + 0ppHi—1 (233)
Solving for Py, and substituting into the expression for quasi-differenced opti-
mal price yields,
1 ) _ 1 E )
PH,t  UpPH,t-1 _ 9;;5 tPHt+1  UpDH,t 234)
1-6,6\1-6, 1-6, 1-6,08 1-46, 1-6,
—ay +wy — In(1 —77) — vg + In(u,)

This can be solved as,

(1 — apﬁ)(l — 910)
Op

where me; = —ay+w —pp ¢ —In(1—77) — v, are the real log-linearised marginal

costs of production. In the absence of sticky prices profit maximising behaviour
implies, me = — In(u).

THt = BEm 41 + (meg + In(py)) (235)

43



Appendix 3 - Derivation of Union and National
Welfare

The measure of welfare which we shall seek to approximate is based on an
aggregate of household utility,

1 1+
(N (K)e) T

10+1G—/—dkz 236
Ny~ xnGy o T+o ( )

The first term can be expanded as
c = "+ (237)

1

= " +a/ Idj 4+ (1 —a)(y? — g9) (238)

0

using (113). Before considering the second term we need to note the following
general result relating to second order approximations,
Y,—-Y
Y:

_ 1 2 3
=y + 597+ (Jlal”) (239)

where o (||a||3> represents terms that are of order higher than 3 in the bound

|lal|on the amplitude of the relevant shocks. This will be used in various places
in the derivation of welfare.

Now consider the second order approximation to the second term for an
individual household k,

1+¢ n\1l+p
O - B v N @i
50N (R (N (R — N (B +o (Jall®)
which can be re-written as,
NP (VR N(k): = N(k)"

vy~ 1t TR

30N (R (

o) (241)

N(k) — N(b)"
— X e ()

Using the above relationship this can be rewritten in terms of gap variables,
N(k)'™*e _ (N(k)M)™?

T = o (V) () + (071 + 90} + o ()
(242)

We now need to aggregate this over households and relate to aggregate variables.

1 N(k.)l-i-cp B (Nn)l-‘rsa (243)
o 1+o )

1
H(N™) 1+¢{/ k)9dk + = 1+<p)/0 (n(k)g)Qdk}+o(||aH3)
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The demand for an individual household’s labour is given by,

Nk) = (w) N (244)

Taking logs and integrating over households,

1 1 —€w
/ n®9dk = n9 + / In (M) dk (245)
0 0 w

Consider the relative price, (%)7 " Let @w(k) = w(k) — w which implies

that,

l1—€w
(M) — expl(1— e0)@D(K)] (246)

w
)’
= 14 (0 e + L G (0 4o (o)

1—€y
From the definition of W we have 1 = fol (%k)) dk. Therefore integrating

the above expression across k the LHS = 1 and the expression simplifies to,

Ep{w(k)} =

which is of second order.
Therefore we can rewrite the relationship between the sum of household
labour inputs and the CES aggregate of these inputs as,

€w — 1

E{@(k)?} (247)

1
1- w ~
/n(k)gdk n + ey 26 Ep{d(k)2)
0

= n?+e€y ! ;ew vary{w(k)?} (248)

From the definition of the variance it is also the case that,

/0 (n(k)9)2dk = vary{n(k)?} + ( /0 (n(k)?)dk)? (249)

where vari{n(k)?} = (e, )?vari{w(k)}.Using this expression and (248) the sec-
ond order approximation to the disutility of labour supply can be written as,

N1+ga N© 1+¢
NP = WO (250)

1+ I+
()50 50+ )00+ (5 + G ) + o (o)

= % FOMR (00 2 (4 @)+ 2D (k)2 10 (|l

45



Now we need to relate the labour input gap to the output gap and a measure
of price dispersion. Aggregating the individual firms’ demand for labour yields,

Y. [t Py(i) :
N=(= —e 251
@ [ dyai (251)
It can be shown that (see GM(2004))
1 P .
nd = y9+In| / ( H(Z))‘Edz'] (252)
o Pm
€ . 3
=y + svardpu (i)} + o Jlall’) (253)
So we can write
14+ n\1+p
N G (254)
1+¢ 1+¢

FO 4+ L0924 ) + Svar{om ()} + P v fu)2)) 4 o ()

The term in G can be expanded as

InG = ln(g) +y7 + tip (255)
= In(1 —exp(—g)) +y? +tip (256)
I—9" L1—=9" g2 , 3
= ey e it o(lal’) 57
where 7"=G"/Y". We can then write
1 — A"
xInGy = nfy In Gy (258)
1
= ot~ 501 +x? + im0 (Jlal) (259)

Using these expansions, individual utility can be written as

NIt o
InC; 4+ ylnG, — = = c?+a/ cdj+ (1—a)(yf —gf) +
1+¢ 0
1
ﬁgawxﬁf+xf (260)
(Nt 1 Lo g2
N N +ef,9 (29 1
D omy e tt + 5022+ )
€ . Cw 1+ €w
—|—§va7‘i{pH7t(Z)} + %ka{wt(lﬂf}}}
+tip + O[3]

Now, adding natural terms to tip and if we have an optimal subsidy, then

N =(1+ )T (261)
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so we can simplify this as

Nt1+t,0 1
InCy +x; In Gy — = a/ c?dj — a(yf — gf) +
t t P , t t
1
(g9 262
9 ym (9¢)” + (262)
L g0 € ) ew(l + pey) 9
~ 0L 020+ 9) + gars (o, 100} + L2 var fu ()}
+tip + O[3]
Total individual welfare in country i is therefore given by
M= S Sali o) va [ A% (263)
t=0 0
1+ , 1 € (1 + ey
B (@214 9 + 62 + evanfpua 0+ 2 v fu ()
+tip + O[3]

utilising the fact that 1 — &= =1 —" = ﬁ

Woodford (2003, Chapter 6) shows that

Z Brvar{pi+(1)} = % Z g'n?, (264)

which given the Calvo price-setting rules in wage-setting also implies,

S Bvanfw(k)y = 3.4 <9;+1m{w“<k)}+zl‘)w9 <wz,s>2+o(||a|3)>
t=0 =0 s=0 w

~+

WK

=A@ +tip+o(al’) (265)

~
Il
o

where we use the expression of the sum to n terms of a geometric series to write.

M= Y leatit o) o o (266)
t=0
SE o)+ g+ g2+ A oy
+tip+ o |lal*)
Integrating over all economies, and utilising
/@W—aﬂ—yﬁﬁzo (267)
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we obtain

Aw

1 1 w w 7 1 i . .
-y [t ) 2 2 1) -2 g Pl tipo (ol

(268)
Welfare is the sum of quadratic terms in inflation (for both wages and prices),
the output gap and the government spending gap in each country.

Derivation of national welfare for an economy outside of monetary union is
similar, but we need to take account of the different subsidy needed to ensure
efficiency when the inefficiently high level of government spending outside of
monetary union is taken as given. In describing the monetary union wide welfare
function the subsidy was determlned at the union level and implied that N? =
(1+x )1+v’ and G' = 1+ -Y'". This served to eliminate the levels terms when
constructing an aggregate European wide union. However, in the context of a
small open economy the subsidy implied,

N'=(1—a+)T% (269)
and,
Yx
G=—>">— 270
l—a+x (270)
Consider the second order approximation to term in G in utility,
G )
InG = ln(?) +y7 + tip (271)
= In(1 —exp(—g)) +y9 +tip (272)
1—A" 11—9" 9 . 3
= ey e vt o(lal’) e
where 4/"=G"/Y"™. We can then write, after solving (270)for x
(1
xInG, = % In G, (274)

I
—
—
I
Q
S~—
Q
iy

Ca |
g @) o +tipto(lal”)  (275)

Introducing this subsidy in the derivation of welfare above, after ignoring foreign
consumption, yields the following welfare function for country i,

Vo= (1-a)(y? - g+

g l—a i
(1—a)g;? — ——(9¢7)* + xy"?
(N7)Hte

2y
) 1 .
_ Nn 1+LP 2,9 _ 2,9\2 1
o+ (V) )P0 +
+tip+ o (|lal*)

€
§Ua7“l{pi,t(l)} +
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€w(1 + ‘Pew)

2

(276)

varp{wi(k)*}}]



Using the expression for the optimal value of labour input,

v o= — ©9)2 277
9y (9:7)" + (277)

€w(l + pey)

5 Uark{wi,t(k)Q}}

(= ot G+ 9) + Svardp, )} +
+tip+ o (Jlal)

The variance in prices can then be replaced with the term in the rate of inflation
to yield national welfare,

i 1 —Q + X 1 + Pew i, 1 i .
= >0 2o o) o 0 P 0Pt ()

(278)
We have thus eliminated the terms in the levels of the output gap and govern-
ment spending gap. However, implicitly we have two different efficient levels of
output since in the national economy outwith monetary union there is an ex-
ternality which it is assumed is unavoidable unless the country joins monetary
union.
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Appendix 4 - Precommitment Policy in the Small
Open Economy

Small Open Economy - All Fiscal Instruments

Let us consider the case where the fiscal authorities have access to govern-
ment spending and both tax instruments in order to stabilise their economy,
when operating alongside the national monetary authorities. Here the presence
of the national monetary policy implies, \Y"" = 0V¢ so that the initial focs reduce
to, for sales taxes,

M =0 (279)
and income taxes, _ Y
AwAr =0 (280)
From these it is clear that if the authorities have access to the full set of fiscal
instruments, then the sales tax ensures A\;"* = 0 and the income tax foc implies,
AwAp 7 = 0. Imposing this, our remaining focs reduce to:
(1) real wages,

A= BENYY =0 (281)
(2) price inflation,
i+ A =0 (282)
(3) wage inflation,
%f—ww;rvt — Nt =0 (283)
N, "
(4) government spending gap,
gt = (284)
(5) output gap, _
21+ ¢)y? =0 (285)

Combining the focs for price and wage inflation yields the optimal combina-
tion of wage and price inflation,

€ €w _w
Nt + zﬂ—i,t =0 (286)

The foc for real wages also implies,
T — BB =0 (287)
which given the New Keynesian Phillips curve for inflation implies,

(1 +¢)yr? =977 —rwy? —In(l —74)¢ +up’ =0 (288)
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and ensures that m;; = 7, =0
:

Therefore, our four target criteria are, for government spending,
g;ag =0
for income taxes,
In(1—714)? = —rwy? +uy’

sales taxes, _
In(1—7")9 =rw;? +uf

and the output gap, ]
v’ =0

(289)

(290)

(291)

(292)

The latter two conditions being achieved through a combination of monetary
policy and VAT changes. Here a combination of income tax and VAT changes
will achieve the real wage adjustment required to support the flex price equi-
librium after monetary policy has eliminated the output gap. Wage and price
inflation will be zero, with income taxes achieving the required real wage ad-

justment.

Small Open Economy - VAT and Government

Spending

Now suppose we only have access to VAT and government spending as fiscal
instruments, our set of focs become, after imposing A\ = 0 from the foc from

the sales tax, our remaining focs reduce to,
(1) Real wages,
AwAf TN = BENTT =0

(2) price inflation,

2¢ TW,t
Tﬂ'i’t + )‘t =0
(3) wage inflation,
2¢ ) FIae) rWw,d
ZCw g AT AT AT

(4) government spending gap,
2 i F i _
-7+ Ay T =0
X

(5) the output gap,

201+ @)y? — X(1+ QAT " =0

o1

(293)

(294)

(295)

(296)



Combining the focs for the output gap and the government spending gap,
i 2
2(1+ @)y g+(1+<p)x =0 (297)
which implies the following government spending rule,
7,9 1 i,g
v’ + o0’ =0 (298)

which delivers the optimal composition of GDP in the face of shocks.
From the foc for the output gap we know,

= A AT (299)
Replacing this in the foc for wage inflation,

264 o

X Tie+ X Ayt’g )‘;w’i (300)

w w
Eliminating A;*"* for the foc for price inflation yields,

€
v it —Ayd = 301
)\wﬂ-lt_‘_)\ﬂ- t+)\w y ( )

Here the loss of the income tax instrument when wages are sticky requires a
trade-off between output and inflation stabilisation with inertia in policy which
is typical of precommitment solutions. Note that if we didn’t have the govern-
ment spending instrument, then we would simply drop the fiscal spending rule
from this target criterion.

The real wage foc implies,

X AT AT - BEATY =0 (302)
substituting for lagrange multipliers,

i €
v’ = 5 (mig = BETi ) = 0 (303)
which is the additional target criteria. Using the Phillips curve we can rewrite
this as, 4 ‘ ,

y? —erwy? +eln(1 —73%)9 —eul =0 (304)

Therefore, we have the following set of target criteria. The government spending
rule,

i L
%g+;%g=0 (305)
The output-inflation trade-off to be achieved by monetary policy,

€w
= 7T1t+

ALY = 306
Mo AMJFA v (306)
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and the sales tax rule,
Y —erwi? 4 eln(l — 70°)9 — eul = (307)

Small Open Economy - Income Tax and Govern-
ment Spending

Now suppose we have the income tax instrument, but no Sales tax. The focs
become, for income taxes,

A AF =0 (308)

and after imposing this, the remaining focs are,

(1) real wages,

SN - BENY =0 (309)
(2) price inflation,
2 , , o
S AN AT A =0 (310)
(3) wage inflation,
2 o
%Wﬁ’t —Nwi= (311)

(4) government spending gap,
2 2,9 )
A A =0 (312)

(5) output gap, _ _
21+ @)y ? — (1+ ) A" =0 (313)

Combining the foc for the output gap and government spending gap,

, 9 . ,
21+ )y ? + ;gi’g — @A =0 (314)

The foc for wage inflation can be embedded in the foc for real wages,
T, 2€w w w
AN = ~—(7Tz',t - ﬁEtﬂ-i,tJrl) (315)
w
Using the wage inflation Phillips curve,

yr? = ew((L+@)yr? — g —rwp? —In(1 — 71)7 + ug™) (316)

which is our first target criterion.
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This can then be used to eliminate the lagrange multipliers from the foc for
price inflation,

Cw 1 7
= i Ay;9) =0 317
)\wﬂzt"‘)\ﬂ't‘*‘)\)\w( () (317)

which gives us our second. Government Spending rule is given by,
2 ; i i i i
;gt’g +2e0((L+9)y? — g7? —rwy? —In(1 = 73)?) =0 (318)

Combining gives us our government spending rule, y,"?

1 i
;gt Ity = (319)

Small Open Economy - No Tax Instruments,
Only Government Spending

No tax instruments. Combining the focs for the government spending gap
and the output gap yields the familiar fiscal rule,

W+ =g =0 (320)

From the foc for the output gap we have,

2yl = X AT (321)
Substituting into the foc for wage inflation,
2¢ 2
~—w7T;€U + ~—Ay 9 A7w i = 322
S+ 2 (322)

Placing in the foc for real wages,

26

7TZ w w 2
A 2y = X (i,t‘ﬁEtﬂi,tH)"‘X (Ayp? — BEAy?) =0 (323)

w w
Then using the foc for price inflation,

2e ) T TW,%
X?Ti7t—|—/\t7 _/\til+/\t T =0 (324)

Eliminating lagrange multipliers,

2¢ 2e 2 ; 1 2¢
=Tt =Tt =— Ay I+ = <2A he 4 TV
PR W Wit \

w w w w

(325)

54
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(A7} — BELAT ) + X—(A2yt’g BEtAQ?Jt-H)) =0



Can eliminate the dynamics in wage inflation using NKPC for wage inflation.

w w
Tt — ﬁEtWi,tH .

= 1+ @)yr? — g0 — rwp? +uy™ (326)
w

to obtain,

€ €w w1 o4g, 1 i i i i iw 1 i i
Xﬁi,t+X_7Ti,t+X_Ayt’g+X (Ayt’g + 6w((l + @)yt,g - gt’g - ”Ut’g +u") + X—(A2yt’g - /BEtA2ytf1)) =
(327)

This describes pre-commitment policy for all cases in the small open economy.

w w
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Appendix 5 - Optimal Precommitment Under
EMU.

EMU - All Fiscal Instruments

With all fiscal instruments available the tax instruments imply, Xw /\:w’i =0
and A" = 0, such that we can rewrite the focs as,
(1)real wages,

A= BENYY =0 (328)
(2)price inflation,
%m — BTN N =0 (329)
(3)wage inflation,
%6—%;% — A= (330)
S

(4) the government spending gap,
2 , .
;9?9 AT AT =0 (331)

and (5) the output gap,
201+ @)yp? + A — BT =0 (332)

Combining the last two conditions yields the fiscal spending rule,
i L
(L+@)y? + ;gt’g =0 (333)

which is slightly different from the small open economy case. Using the focs for
price and wage inflation,

2 2
Smia— 7N + Xiw;’jt =0 (334)

Substituting this into the foc for the output gap,
ig , 2€ 2€y w w
2(1+ )y, + 7(5Et7fi,t+1 —Tit) + X—(ﬂEtﬂ—i,t-&-l —mi) =0 (335)

The final target criteria is implied by,

A= BENYY =0 (336)
and 9
R (337)
Ao
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which imply,
Ty = BB (338)

which in turn implies the following income tax rule,.
(L @)yy? = g% = rwy? —In(1 = 7)7 + uy™ =0 (339)

As a result the target criterion simplifies to,
i €
1+’ + X(ﬂEﬂri,t+1 —mi) =0 (340)

Using the NKPC to eliminate the dynamics in inflation we get our VAT fiscal
rule, _ ' _ _
(L @i + ein(1 — 75)9 — ruf? + uf?) = 0 (341)

Therefore our policy configuration is a government spending rule,
(14 o)y + ot =0 (342)
the income tax rule,
(L+@)? = gr? — rwp? —In(1 —7)? + ™) =0 (343)
which eliminates wage inflation, and VAT tax rule,
(1+@)yp? + e(In(l = 70)7 — rwp? +u?) =0 (344)

Without the national monetary policy instrument we can no-longer offset all
shocks completely. Instead the income tax rule will eliminate wage inflation,
government spending will adjust to ensure the optimal composition of output
and the sales tax will be adjusted to achieve the best trade-off between output
and inflation given that competitiveness will need to be restored once any shock
has passed.

EMU Case - VAT and Government Spending

Now we start dropping fiscal instruments. Let’s suppose we don’t have the
income tax instrument. The focs become, for the sales tax,

M =0 (345)

i.e. the price Phillips curve ceases to be a constraint on maximising welfare
-VAT tax changes can offset the impact on any other variables driving price
inflation. The remaining focs are for,
(1) real wages,
Xw)‘fw7i + A:w’i - 5Et>\:$ii =0 (346)
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(2) price inflation,

2
S — BTN A = (347)
(3) wage inflation,
26w T 7 rw,i
)\—ﬂ—z t + )\ ’ )\tfl’ — )\t V= 0 (348)

w

(4) the government spending gap,
9 o . .
;%ﬂ+&MfJ—V”+ﬂJVL=O (349)
and (5) the output gap,

21+ )7 — (L + A7+ AP = BTN =0 (350)

Combining the last two conditions,

2, g Xy
;gt,g +2(1+ @)y’ — Ay ' = (351)

Inserting into the foc for wage inflation,

2 ; 1
2e,m + —Agy? + 2( +¢) Aybd — X A = (352)
' X P

Using the foc for real wages,

2 (1+ @) €w
0 — 79 + 2 7g + 2~_ ﬂ-;U — BT";U 353
o’ ” M‘,t t+1) (353)
2 ; 1+ ;
T2 (ag - pEAGEE) + 205D (Ayie — gE A
OXAw .

Now consider the foc for price inflation,

2€

it BTN AT =0 (354)
eliminating, A/ yields,
2 1
i+ 228w, A”g+2( +¢)A 9= g Iav (355)
A Aw X PAw
Now consider foc for output gap,
201+ @)y — ML+ QAT T+ A = BN =0 (356)
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and eliminate lagrange multipliers,

0 = 2(1+¢)y? (357)
2 1+¢)
ﬂ+9@(——%ﬂ+2L——lwg>
X @

2e €w w w
+7(5Et7”’t“ — i) + 2X_(/8Et7ri,t+1 — i)

w

, 1+ , _
+ (BE:Agyty A%ﬂ%+% whﬂ&A%fy—A%@
PXAw X
Combining with the first target criterion,
2 (1+ ) €w
0 = —gh942—yh9 4 9 Y (7% — BEmY 358
‘PXg o /\w( izt BE: z,t—l—l) (358)
2 - : :
(g - s g + 2 (g g ayie) (350)
X P
yields,
0 = 2(1+¢)y’ (360)
2 1+
—a+¢)< g0 4 o1 0) )
@X ¥
2¢
—‘V‘X(ﬁﬂ'i,t-i-l — Tit)
2 1
_ﬂw+2(+@
¥
Simplifying,
1 i €
0 = _;gt’g N X(/BEtTri’tJrl — 7T2'7t) (361)

Using the NKPC this simplifies to,
1 . . . .
=g = e(ln(1 — 77°)9 — rwyp? + uy'?) (362)
X

This can either be interpreted as a government spending or sales tax rule. Now
need second criterion function.

2 (1+ ) €w
0 = —gh942—yh9 4 9 (7% — BEmY 363
@Xg 0 /\w( it t z,t—l—l) (363)
i i 1+
+—=(Ag;? — BE:Agyy) + 2( ~ )( ﬁEtAyt-i—l)
OXAw PAw
Using NKPC for wage inflation,
2 L+o) 4 i i i iw
~Zgie = WD o (14 )bt — g — el 4 ub) (364)
»X ¥
2 i i 1+ i i
2 (agh? - BEAGE) + 25 Ay gE Ay
X Aw PAw
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With only two instruments and four constraints, the precommitment pol-
icy implies a degree of both inertial and forward-looking behaviour typical of
analysis of monetary policy in the case of sticky wages and prices (see Woodford
(2003), Chapter 7).

EMU Case - Income Tax and Government Spend-
mng

Now suppose now income tax is the only tax instrument. The condition for
income taxes is given by,

A AT =0 (365)
and, after imposing this in the remaining focs,
(1) real wages,

— DN = BENYY =0 (366)
(2) price inflation,
2e T, T, -1y, TW,%
Xﬂ-i,t + )‘t7 - )‘t;l - B /\t’_l + /\t =0 (367)
(3) wage inflation,
2 .
%w;ﬁ; — W= (368)
(4) the government spending gap,
2 . ‘ .
Lo A BT =0 (369)
and (5) the output gap,
201+ @)y + A = 57N =0 (370)

taken together these imply the following government spending rule,
1 . ,
L0+ ey =0 (371)

Taking real wages and the wage inflation condition together implies,
2¢€4

Y Vi X—(wyjt — BEmY, ) =0 (372)

w

Using the wage inflation Phillips curve,

N 4 26, (14 @)yid — gi? — rwl? —In(1 —74)9 +ul®™) =0 (373)
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Using in the price inflation foc,

_ ; 2¢ 2e 2e ; ; ; ;
BTN = T+ X_wﬁ?t + (1 +9)yp? =g —rwy? —In(1—7¢) +u;")
b (374)
Substituting into the foc for the output gap,
ig , 2€ 2€y w w
0 = 2(1+e)y?+ X(ﬁEtWi,tH —mit) + X_(ﬁEtWi,tH — i) (375)

w

264 i, i, i, i, iw iw
+T((1 + ‘P)(ﬁEtyt-fl — Y q) - (5Et9t-f1 — 9t g) + (ﬁEt“t-H —u")

—(5Etrwi’f1 —rw?) — (BE In(1 — 7441) — In(1 — 74)9)
Using the definitions of the wage and price Phillips curves,
0 = (L+@)yp? —elrup? +uf) = co((L+ @)y = gv7 —rwy? —In(1 =710 + uy’)
+5H((L+ @) (BEwE — i) — (BEwglts - 9i) (376)
—(5Etrwf’f1 —rw?) — (BE In(1 — 7441)9 — In(1 — 74)9)

which is our dynamic income tax rule.

EMU Case - Government Spending the Only
Instrument

With only government spending as our available instrument, our focs be-
come,
(1) real wages,

SN AT N = BB =0
(2) price inflation,

2e i i - i rw,i
T FA A -6 AN =0 (377)

(3) wage inflation,
=T ¢ —+ )\;vai — /\zriul,l — )\Iwﬂ. =0
w

(4)the government spending gap,

92 . - w ) )
Zgb? + XN N T =0 (378)
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and (5) the output gap,
201+ @)y = ML+ QAT T+ A = BN =0 (379)
Combining the focs for government spending and the output gap,

i 2 g % \mvi
2(1+ @)y + igt’g —AwpAy T =0 (380)

Using in combination with expression for wage inflation yields,

2 1+ i 2 i rw,i
g+ 2L Ay 4 o agis — (381)

w wP XAw®p

Using expression for real wages,

. 1 L2
SVECh R 2 ;w)yé’“r—gi’g (382)

254
1+ ; ;
120 (0 BB ) + 2(X—‘O><Ayzﬂ _BEAYY)
w wP

+—= (Agi’g—ﬁEtAgii’l)
XAwp

Now consider expression for price inflation,

9 , , . ,
4 AT AT — BT N =0 (353)

Substituting all the elements,

2e
Kﬂ-i’t (384)

+2(1+s0)

—1\y,2
B )‘t-‘rl

. 9 .
Ay + —Ag?
PX
w w 1 + 7 7
+_X (A}, — BEAT ) +2 (X S0)(A2?Jt’g - /BEtA2ytf1)
w wP

2 i i
+—=—(A%gy? — BEAN?g )

2611) w ]. + i 2 i
="+ 2(~ <P)A1/t’g + —=—Ag"
Aw Awp XAwp

Now turn to the foc for the output gap,
2014+ @)y’ = AL+ QAT T+ X = BTN =0 (385)

The can then be solved simultaneously to obtain the target criterion for govern-
ment spending. However this does not afford any real intuition.
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Appendix 6 - Adding Government Debt

Until now we have financed any deficit between government spending and
distortionary tax revenues with a lump-sum tax. It is, however, interesting
to discover how relaxing the assumption that lump-sum taxation balances the
budget affects the use of fiscal policy as a stabilisation device.

Recall the home country consumer’s budget constraint,

PCi + E{Qe41 D (k)1 } <y + D(k)¢ + W(E)eN(k)e(1 —7¢) —T;  (386)

D(k)¢41 is a random variable, whose value depends on the state of the world in
period t+1 i.e. it is the household’s planned state-contingent wealth. Note that
there is no household index on the household’s consumption. This is because the
complete set of asset markets implies all households face the same intertemporal
budget constraint and will choose the same consumption plan (this is discussed
more fully below). We can aggregate these constraints across households, to
obtain the private sector’s budget constraint in the home economy,

P.Cy+ E{Qi4+1Di11} <II, + Dy + Wy N(1 — 1) — T (387)
There is a unique stochastic discount factor which has the property,
Ay = E[Q4 111Dy 11] (388)

where A; is the end-of period nominal value of the household’s portfolio of
assets. If the household chooses to hold only risk-less one period bonds then
this condition becomes,

Dyy1 = R Ay

However, households will not only hold government bonds as they will wish to
hold a complete set of contingent assets (given the stickiness in wage and price
setting). The wealth Dy being transferred into the next period satisfies the
bound,

Dy > — Z Ei11[Qey1, (U + W(k)rN(k)r(1 — 77) — T7] (389)
T=t+1

with certainty, no matter what state of the world emerges. These series of bor-
rowing constraints and flow budget constraints then defines the intertemporal
budget constraint. It is normal to rule out no-Ponzi schemes which amount to,

io: Et [Qt,T(HT —+ W(]{})TN(k)T(l — TT> — TT} < 0 (390)

at each point in time across all possible states of the world. These can be
combined to yield the intertemporal budget constraint (see Woodford, 2003,
Chapter 2, page 69),

Y EPrCr] < D+ ) Ei[Qur(r + W (k)rN(k)r(1— 1) —Tr)] (391)
T=t T=t
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Note what this implies. For all households to be consuming the same they
must have different initial holdings of wealth to compensate for differences in
expected incomes caused by stickiness in wage setting. Optimisation on the part
of households then implies that these constraints hold as equalities (otherwise
they are missing out on consumption opportunities by not fully exploiting their
intertemporal budget constraints). Aggregating over households would, in a
closed economy, allow us to show the equivalence of private and public sector
budget constraints.
Noting the equivalence between factor incomes and national output,

PyY = WN + 11— WN + 75 Py Yy (392)

we can rewrite the home country’s budget constraint as,

Dy = — Z E Qi1 (PurYr — PrCr — WrNp(17 — ) — 70 Py rYur — Tr)]

T=t
(393)
Recall the goods market clearing condition in the home economy,
pPC ' e, PiC"
Y:(l—a)——i-a/ Gy (394)
PH 0 PH
Similar conditions exist in economy 7,
; PiCi L e PiCt .
Yi=(1-a) +a/ (———)di + G’ (395)
b o &P

This can then be aggregated across member states,

1 1 1 1 1
/sjpjw'dj = (1—a)/ sijdejJra/ /(siPiCi)dider/ e; PjG?dj
0 0 0 0 0

1 1 1
(l—a)/ Eijdej-i-Oé/ (giPiCi)dH/ ;PG dj
0 0 0

1 1
/ e; PICIdj + / ;PG dj (396)
0 0
Integrating the budget constraints across economies and using this global market
clearing condition yields,
/QDZdi =-> E [Qt,T(/ Py wGir=WirNio(Tim—3)—7; p P oY1 =T r)eidi]
T=t 0

(397)
with the nominal exchange rate fixed at its normalised value of 1 in monetary
union we get the expression in the main text.
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Appendix 7 - Optimal Commitment Policy with
Government Debt

Open Economy Case
The Lagrangian associated with the open economy case in the presence of a
national government budget constraint is given by,

L= B Y Bt £ G0 9) 4 ()’
+>\:w7i(7rﬁt - 6Et7ﬁ€t+1 - Xw((l + ‘P)yi’g - g?g - Tw?g —In(1 - Ti)g))
AN (g — BE{mig1} — Alrwp? — In(1 — 73°)9))
AN W — 977 — B{urdy — git + miaa} + (i — ™)
A (9 — T+ T — rwzf’l + Aay)
A0 T2, — %, — m00) — byl — by In(1
—|—byyi’g — by In(1 — 79 4 byyrwi?)]

_Gl1—Atm -7y, = -7 N _
where by = S22 = OTV =R 1p, = CTION. gy, =

. The focs are given by, for the interest rate,

TTw' N
—7

AT — BN =0 (398)

Here monetary policy must now take account of its impact on the government’s
finances.

In terms of national focs, we begin with the foc for the sales tax gap, In(1 —
oy

AT — b AP =0 (399)
Similarly, the condition for income taxes is given by,
Ao AT oAb =0 (400)
and for real wages,
SN AT X = BB 4 b AT =0 (401)

The remaining first-order conditions are for debt,
A= BREN), =0 (402)
which implies that, on\f;’i = A" vt . In other words policy must ensure that

the ‘cost’ of the government’s budget constraint is constant following a shock
which is the basis of the random walk result of Schmitt-Grohe and Uribe (2004).
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This also implies that the lagrange multipliers for the wage and price Phillips
curves are constant over time too. The remaining focs are for inflation,

2e i i - i rw,i | b
T AT A =8 I X RAY =0 (403)
wage inflation,
2ey ) FIan) TWw,i
=it AN TN A =0 (404)

the government spending gap,
2 ~ v ; ; ;
SO AT = X BT — by A = 0 (405)

and the output gap,
21+ @)y — A (L 4+ QAT T+ A — g7\ £ p A0 =0 (406)

Combining the focs for price and wage inflation,
—Tt + ~—7T1-7t =0 (407)

gives us the optimal combination of wage and price inflation. This essentially
describes the balance between wage and price adjustment in achieving the new
steady-state real wage consistent with the new steady-state tax rates required
to stabilise the debt stock following the shock. Taking the foc for the output
gap, we have,

201+ @)y + A" (=b-(14+ @)+ (1= 57" +b,) =0 (408)

which defines the value of the Lagrange multiplier associated with the govern-
ment’s budget constraint which implies that the output gap is constant. Using
the focs for the two taxes in conjunction with the foc for real wages implies,

2¢

— 5 (Mie = BEmi 1) + (bra + by = bra) X =0 (409)
and,

2 w 7

8 (¥, — BET ) + (b 4 br — bre) AL = 0 (410)

Using the NKPCs for price and wage inflation these can be rewritten as the
sales and income tax rules, respectively,

—2¢(rwy? —In(1 —70°)9 +u) 4 (b + by — byrs)A>" =0 (411)
and,

26, ((1 +<p)y§’g —g,f’g —rwi’g —In(1 =799 +u?) + (bpy + by — st))\b’i =0 (412)

66



Finally the government spending rule is given by,
2 g be — (1—8"1 —p b —
9 +(br = (1=877) = bg)A"" =0 (413)

which is again constant.

EMU Case:

The Lagrangian associated with the open economy case in the presence of a
national government budget constraint is given by,

1 oo
€ €w ) 1 -
I N W Ry

t=0 w
AT, = BE iy — A((L+ @)y — g —rwp? — In(1 - 7)7))
AN (i = BE{mi 1} — Arw™ —In(1 — 7¢%)9])
AW = 0! = Byt — 97+ maaad + (=)
+)\;w’i(rwz’g — T+ T — ”szl + Aay)
FAP (b)Y = RbpY — R(r)_y —mip) — bogy? — brs In(1 — 77%)9
+byyp? — by In(1 — 78)9 + byyrw)?) | di

=i oq_im 17—1‘,,5 71 — 17_1' _Wz
where by = St b = LT b =R — 1b, = LTEEE and b, =

———i 77t . . . .
W N The focs are given by, for the union wide interest rate,

1 . .
/ (N — B A )di =0 (414)
0

Here monetary policy must now take account of its impact on the union’s fi-
nances.

In terms of national focs, we begin with the foc for the sales tax gap, In(1 —
T5)9,

M= b A =0 (415)
Similarly, the condition for income taxes is given by,
X AF T —bAb =0 (416)
and for real wages,
SN XGAT AT = BEATY 4 b AT =0 (417)

The remaining first-order conditions are for debt,

AV — BREAYL =0 (418)

67



which implies that, EO)\f’i = X" V¢ . In other words policy must ensure that
the ‘cost’ of the government’s budget constraint is constant following a shock
which is the basis of the random walk result of Schmitt-Grohe and Uribe (2004).
This also implies that the lagrange multipliers for the wage and price phillips
curves are constant over time too. The remaining focs are for inflation,

9 , ,
fm FAT AT = BT AT RAY = (419)
wage inflation,
2¢€y i i "w, i
)\Lﬂ-?t FAT AL AT =0 (420)

the government spending gap,
92 . - w , . ,
SO RN = X BT — by A = 0 (421)

and the output gap,

21+ @)y? — X(1 4+ @)AF 4+ AV — g7 4 p A0 =0 (422)

Combining the last two focs,
) ,
2(1+ ‘P) 94 = gt7g + (by — pbr — bg>/\?7z =0 (423)

gives us a definition of the lagrange multiplier associated with the budget con-
straint, which also implies a constant relationship between the output and gov-
ernment spending gaps following a shock.

Consider the foc for the real wage,

2 w 7
20 (1, — BEY 1) + (braw + by — b ) AV =0 (424)

w

Using the NKPC for wage inflation we can obtain an income tax rule,
26w (1+@)yr? — g9 —rwh? —In(1—74)9 +ul) + (brw 4+ by — by )JAPT = 0 (425)

Combining the wage and price inflation focs,

N it T X Tt T BTN+ RN = (426)

Use in the output gap equation and using the NKPCs to eliminate the inflation
dynamics gives us a sales-tax rule,

0 = 20+ 4 (by — @by +1— B 4 by — byo) AP
—2¢(rwp? —In(1 — 75)9 4+ u?) (427)
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Need to get a government spending rule. Foc for output gap gives,

201+ @)yp? + A" (=b-(14+ )+ (1—87") +b,)

0 =
(428)

it — BETi141)

2e
= (ﬂﬁt - 6Et7ﬁ€t+1)

w

While for government spending we get,
2 ; _
0 = ot + A by — by =14+ 671
2e
+X(7Ti,t — BEmi11) (429)
2610 w w
+=— (7 — BE 1)

Eliminating A% we obtain,

2, by —by—1+ 571 ;
—g? —2(1+¢) ( 7 571) e
X (=br(L+¢)+(1—=57")+by)

by —by— 146"

( = 5 )it — BEm 441)

(430)

+%(1+
AT (b () + (1= 871 +by)
26w (br —by —1+ 6_1) T, — i
N T (g )y e )

Using the NKPCs for price and wage inflation to eliminate the inflation dynamics

gives us our government spending rule,
by —b, —1+ 471 i
R
(=br(1+@)+(1=877) +by)
—b -1 -1 ) .
+2e(1 + Br — by 14 ﬁ_l ) ) — In(1— ) 4 )
(=0r(1+ @)+ (1=077) +by)
(br —by—1+p37" i i i ;
+2€, (1 + 1+ 9 g9 9 (1 — )9 4

2 .
0 = —g;*
X
(431)
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Appendix 8 - Variable Definitions

A— Productivity

C— Aggregate consumption bundle

C*— Aggregate foreign consumption.

Cr— Aggregate of goods produced abroad.

Cy— Bundle of domestically produced consumption goods.

Cr(j)— Good j within bundle of domestically produced consumption goods.
C;— Bundle of goods produced in country i.

D— Nominal payoff from financial assets (including share of profits in firms)
¢;— Bilateral nominal exchange rate with country q.

e¢— Effective nominal exchange rate.

G(j)— public good j.

G— Aggregate provision of public goods.

N(j)— domestic labour employed by firm j.

N (k)— Labour supplied by household k.

N— Aggregate domestic labour input.

P— Aggregate consumer price index associated with C'

Py - Domestic price index associated with Cpy

7 — Rate of inflation in Py

Py (j)— Price of good Cr(j)

P;— Index of domestic prices in country 4 (in home country currency).

P!— Index of domestic prices in country i in country 4’s currency.
P{(j)—Price of country i’s good j expressed in terms of country i’s currency.
P*— World price level (both consumer and output prices)

Q+,t+1— Stochastic discount factor measuring current certainty equivalent value
of an uncertain future payoff.

Q,—Bilateral real exchange rate.

Q — Effective real exchange rate.
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S;— Bilateral terms of trade with country 4.
S— effective terms of trade.

7— Income tax rate

75— Sales tax rate.

v— logged value of employment subsidy (1 — x)
W (k)— Nominal wage charged by household k.
W — Wage index for home country.

7% — Rate of inflation in W.

In the paper, lower case letters denote logged values of the associated levels
variable, n superscripts denote ‘natural’ values that would occur in the absence
of nominal inertia and ‘g’ denotes ‘gap’ variables - the difference between the
logged variable and its logged natural value.
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Appendix 9 - Parameter Definitions

1 — a - weight on domestically produced goods in consumption - a measure of
home bias.

(B— Consumers subjective discount factor.

e— elasticity of substitution between domestically produced goods (= price
elasticity of demand for domestically produced goods.

ew— elasticity of substitution between differentiated labour (= wage elasticity
of demand for domestically labour types.

n— elasticity of substitution between bundles of goods produced in foreign
economies (see equal to 1 for simplicity).

x— weight on public goods in utility.

(p—labour supply parameter.

1 — 6,— probability of price adjustment in each period.
1 — 6,,— probability of wage adjustment in each period.
u— steady-state mark-up in domestic goods market.

u? — steady-state mark-up in domestic labour market.
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Appendix 10 - Matrix Representation of Model

The small open economy model can be represented in matrix form as,
AO.’Et+1 = All’t + BOut + &

where x; is a vector of endogenous variables, u; are a vector of policy instruments
and €; a vector of shocks, all of which are defined as follows,

[ In(1 —78)9 7 T 0 ]
ﬂft 0
rw;? ' 0
9’ vt 0

T = €it1 Uy = ln(lfT:f1)g and &, = €it2
at 9t 0
! In(1 = 7441)7 0
it 0
By 0
Etﬂﬁﬂrl _0_
1 0 0 0 0 0 0 00 07
0 1 0 0 0 0 0 00 0
0 -1 1 0 0 1 0 100
0 0 0 1 00 0 00 0
0 0 0 0 10 0 00 0
A=y 09 0o 0 01 0 00 0
0 0 0 0 0 0 1 00 0
0 0 0 0 0 0 0 100
0 0 A 0 0 0 0 0 3 0
[0 0 =X =X 00 (149X, 0 0 3]
00000 0 000 0]
000000 O0O0O0 1
001001 0000
000000 0O0ODO
Ai_|00000 00000
000071 p, 000 D0
000000 00O O
000000 O0O0T10
000000 O0O0T10
(000000 00O 1]
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This can then be solved to obtain the form used in Soderlind (1999),
Tep1 = Az + Bug + ¢4

where A = (A0)"'Al and B = (A0)~!B0. The first eight variables in z;
are considered to be predetermined, while the last two are jump variables. The
element of this representation which implies this is the EMU case is the dynamic
relationship, , 4 , ,

v =9 =y = 9’ = mia — Aq
which implies that the system must exhibit the property of price level control.
This is obtained from

Yo =c; + gt + st (432)

and the definition of the terms of trade,

St = DpPrt—DPH,L (433)
= e +p; —DPHL (434)

after imposing the fixed exchange rate and assuming the shock hits country
i only. (Productivity enters by considering the change in the natural level of
output).

The open economy case has the same representation, but the output gap
can be considered a control variable from the point of view of the monetary
authorities. In this case the system would become (note the change in the
definition of ;) ,

[ In(1 — Tiﬂ)g T

w
Ty t+1

0,9
TWy1q

oo oo

ngl 2,5 \g
cl In(1 - Tir)
t+2 — 2,9 —
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ig i,g In(1—7,,)7
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The remaining variants considered in the paper can then be calculated by elim-

inating the controls no longer in use.

Adding in debt the EMU model becomes,
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while similar adjustments are made when introducing debt in the case of a small

open economy operating under flexible exchange rates.
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Figure 1:

Response to a 1% technology
monetary policy as a policy instrument.
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Figure 2: Response to a 1% technology shock under EMU with no policy re-

sponse.
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Figure 3: Response to a 1% technology
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Figure 4: Response to 1% technology shock under EMU with all fiscal instru-
ments and government debt.
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